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Section : Part A General Intelligence and Reasoning

Q.1 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Ans

o 4

GEE) (8

Status : Answered

Chosen Option : 4

Q.2 In acertain code language, DANGER is written as EDSHHW. How will SPEEDY be
written in that language?

Ans X 1.TSIFGD
< 2. TSIEGE
/< 3.TSIEGE
" 4. TSIFGD

\{UCDLEUII iD . U54:77001774
Status : Answered
Chosen Option : 2




Q.3 Select the option that is related to the third number in the same way as the second
number is related to the first number.

129:216::165: ?
Ans o 1.252
< 2.306
< 3.269
5 4.348

Question ID : 65497831785
Status : Answered
Chosen Option : 1

Q.4 Select the option that is related to the third term in the same way as the second term is
related to the first term.

BUMP : NOSD :: PICK : ?
Ans X 1.GIAR
75 2.QJBX
5 3.LGDL
« 4.1EGR

Question ID : 65497831777
Status : Answered
Chosen Option : 4

Q.5 Select the correct combination of mathematical signs that can sequentially replace the
(?) signs and make the given equation correct.

72?18?7117 44
Ans X 1.x, + =
o 2.5, %, =
K 3%+ =
X4+ - =

Question ID : 65497831786
Status : Answered
Chosen Option : 2

Q.6 ‘Sword’ is related to ‘Weapon’ in the same way as ‘Necklace’ is related to *

Ans & 1. Jewellery
#< 2. Goldsmith
25 3.Women
75 4. Neck

Question ID : 65497831790
Status : Answered
Chosen Option : 1




Q7 Select the option in which the given figure is embedded (rotation is NOT allowed).

7N

Ans
/Y
F N R g
X 2.
« 3.

X 4.

m/q,
[+« N

Question ID : 65497831788
Status : Answered
Chosen Option : 1

Q.8 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

DQH, HUL, MZQ, SFW, ?
Ans & 1.ZMD

X 2.ZNE
& 3.ZLC
& 4.YMC

Question ID : 65497831789
Status : Answered
Chosen Option : 1

Q.9 Select the number from among the given options that can replace the question mark
(?) in the following series.

13,15, 12, 17, 10, 21, 8, ?
Ans X 1.24

K 2.22
X 3.23
o 4.25

Question ID : 65497831782
Status : Answered
Chosen Option : 1




Q.10 P, Q, R, S, T and U are six members in a family. P is the husband of Q. U is the brother
of Q. R is the son of the only brother of Q. S is the sister of T. P is the father of S. How
is Urelated to T?

Ans  #5 1.Cousin
5 2. Brother
5 3. Paternal uncle

" 4. Maternal uncle

Question ID : 65497831779
Status : Answered
Chosen Option : 4

Q.11 The cost of an apple is four less than twice the cost of a banana, and that of a papaya

is half the cost of an apple. If the total cost of the fruits is 150, then what is the cost of
a banana?

Ans X 1.%33
X 2.%336
" 3.339
K 4.%42

Question ID : 65497831775

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.12 Four persons A, B, C and D are playing carrom. A is to the immediate left of C. D is to
the immediate right of B. Which statement shows the correct position of A?

Ans  «# 1. Opposite B
X 2. Opposite D
25 3. Immediate left of B
25 4. Opposite C

Question ID : 65497831791
Status : Answered
Chosen Option : 1

Q.13 1 the following diagram, the 'circle’ stands for *soldiers', the 'square’ stands for *Indians’, and the 'triangle' stands for
‘singers’. The numbers given in the different segments represent persons belonging to that category.

4/s

‘Which category is represented by the number '5'?

Ans 1. Indian singers who are not soldiers
2. Indian soldiers who are not singers
3. Indians who are neither singers nor soldiers

4. Indian singers who are soldiers

Question ID : 65497831792
Status : Answered
Chosen Option : 1




Q.14 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Terminus
2. Therefore
3. Terrace
4. Thesis
5. Thiamine

Ans X 1.1,2,3,4,5
& 21,3245
< 3.1,24,35
< 4.1,52,4,3

Question ID : 65497831780
Status : Answered
Chosen Option : 2

Q.15 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans o 1. HFDZX
X 2. CAYWU
725 3. TRPNL
5 4. OMKIG

Question ID : 65497831768
Status : Answered
Chosen Option : 4

Q.16 Six people, K, L, M, N, O and P, are sitting on the ground in a hexagonal shape but not
necessarily in the same order. K is not sitting next to L or M. N is not sitting next to M
or O. L is the neighbour of M. P is in the middle of M and N. What is the correct order
of seating positions of the people in clockwise direction?

Ans  # 1.L-M-P-N-K-O
X 2.L-N-O-K-M-P
< 3.L-O-K-P-M-N
< 4.L-M-N-P-K-O

Question ID : 65497831784

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.17 In a certain code language, ‘VENDOR’ is written as ‘TMFLGT’. How will ‘CUSTOM’ be
written in that language?

Ans X 1.BSTSPA
< 2. DTVQPN
¥ 3. OMVQWA
< 4.0TVQMW

Question ID : 65497831778
Status : Not Answered
Chosen Option : --




Q.18 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
All guavas are pears.
Some kiwis are pears.

Conclusions:
I. Some kiwis are guavas.
Il. Some pears are kiwis.

Ans #% 1. Both conclusions | and Il follow
«” 2. Only conclusion Il follows
25 3. Neither conclusion I nor Il follows

#5 4. Only conclusion | follows

Question ID : 65497831773
Status : Answered
Chosen Option : 2

Q.19 select the figure from among the given options that can replace the question mark (?) in the following series.

@
@

Ans

~ 4 B

Question ID : 65497831783
Status : Answered
Chosen Option : 3




Ans

Ans

Ans

Ans

fhdB31

~r€8bnri
r€8PyUi
b€dbrdl
‘r€dbrdtl

mark (?)in it.

133034
27?14
193022

X 1.30
o 2.34
< 3.32
< 4.36

(?) in the following series.

14, 16, 22, 34, 54, 84, ?
o 1.126
X 2.148

K 3.121
X 4.112

L_PO_LO_OK_OP_KL_POK
« 1.0,K P, L0O,0
< 20,P,0,KOL
/< 3.0,PKO,LO
& 4.0,0,PKLO

Q.20 select the correct mirror image of the given combination when the mirror is placed at the right side.

Question ID : 65497831771
Status : Answered
Chosen Option : 4

Q.21 Study the given pattern carefully and select the number that can replace the question

Question ID : 65497831774
Status : Not Answered
Chosen Option : --

Q.22 Select the number from among the given options that can replace the question mark

Question ID : 65497831770
Status : Answered
Chosen Option : 1

Q.23 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

Question ID : 65497831781
Status : Answered
Chosen Option : 1




Q.24 In acertain code language, 'SOBER' is coded as '64' and 'NOSTALGIA' is coded as
'107'. How will 'REPAIR' be coded in that language?

Ans X 1.83
X 2.67

o 3.73
X 4.80

Question ID : 65497831769
Status : Not Answered
Chosen Option : --

Q.25 Choose the box that is not similar to the box formed from the given sheet of paper when it is folded.

Ans
&1
2 3
X 2. 4
5
o 3. 3
~ 4 )

Question ID : 65497831787
Status : Answered
Chosen Option : 1

Section : Part B General Knolwedge and General Awareness

Q.1 The Mughals were proud of their Timurid ancestry. How did they celebrate this?
Ans 25 1. By holding events like horse racing and shooting

#% 2. By declaring a particular day as a holiday in the country
" 3. By each ruler getting a picture made of Timur and himself

#% 4. By dedicating the day to soldiers

Question ID : 65497831808
Status : Not Answered
Chosen Option : --




Q.2 Which of the following chemicals is known as vinegar?
Ans X 1. Oxalic acid

7% 2. Formic acid
«” 3. Acetic acid

25 4. Tartaric acid

Question ID : 65497831812
Status : Answered
Chosen Option : 3

Q.3 With which of the following dance forms is Laxmi Narayana Sastri associated?
Ans X 1. Odissi

25 2. Kathak
«” 3. Kuchipudi
25 4. Mohiniyattam

Question ID : 65497831810
Status : Not Answered
Chosen Option : --

Q.4 When did the rules under the Fiscal Responsibility and Budget Management Act come
into force?

Ans o 1.July 2004
25 2. August 2004
7% 3. August 2003
25 4. July 2003

Question ID : 65497831802
Status : Not Answered
Chosen Option : --

Q.5 Emma Raducanu is a professional tennis player from
Ans X 1.TheUs

25 2. Canada
7% 3. Croatia
o 4. The UK

Question ID : 65497831817
Status : Not Answered
Chosen Option : --

Q.6 Who among the following was a Portuguese viceroy in India?
Ans  #5 1. Robert Clive

25 2. Comte de Lally
" 3. Francisco de Almeida

#< 4. Francois Dupleix

Question ID : 65497831801
Status : Not Answered
Chosen Option : --




Q.7 The Constitution (One Hundred and Twenty-Sixth Amendment) Bill, 2019 aims to retain
the inclusive character as envisioned by the founding fathers of the Constitution of
India by continuing the reservation of seats for the scheduled castes and the

scheduled tribes up to
Ans X 1.25January 2035

25 2.25 January 2025
2% 3.25 January 2040
& 4. 25 January 2030

Question ID : 65497831814
Status : Not Answered
Chosen Option : --

Q.8 Laterite soil is poor in oxides of which among the following?
Ans X 1. Aluminium

75 2. Titanium

25 3.1ron
" 4. Silicon

Question ID : 65497831797
Status : Not Answered
Chosen Option : --

Q.9 Who wrote ‘Gita Rahasya’, which is a commentary on the Bhagavad-Gita, in the
Mandalay jail of Myanmar?

Ans  «# 1.Bal Gangadhar Tilak
25 2.Subhas Chandra Bose
7% 3. Aurobindo Ghosh
25 4. Lala Lajpat Rai

Question ID : 65497831813
Status : Not Answered
Chosen Option : --

Q.10 Who chaired 'Aarogya Manthan' 2.0 to celebrate the 2nd anniversary of Ayushman
Bharat-Pradhan Mantri Jan Aarogya Yojana?

Ans X 1.Dr Ashwini Kumar Choubey
#< 2. Amit Shah
«” 3.Dr Harsh Vardhan
#< 4.Dr Indu Bhushan

Question ID : 65497831809
Status : Answered
Chosen Option : 2

Q.11 Which of the following is a multicellular organism?

Ans  #5 1. Paramoecium
75 2. Amoeba
«” 3. Sponge
#< 4. Chlamydomonas

Question ID : 65497831811
Status : Not Answered
Chosen Option : --




Q.12 Neil Nongkynrih is a concert pianist and founder of from India.
Ans X 1. East Parade Malayalam Choir

Z< 2. Indian Fusion Chamber Choir
«” 3. Shillong Chamber Choir
2% 4. The Mozart Choir of India

Question ID : 65497831793
Status : Not Answered
Chosen Option : --

Q.13 What do you call aregion with alarge number of deep gullies or ravines?
Ans  «# 1. Badland topography

25 2. Arid topography
25 3. Humus region

75 4. Peninsular region

Question ID : 65497831794
Status : Not Answered
Chosen Option : --

Q.14 has launched its new brand campaign titled 'Contactless Connections’, in
October 2020.

Ans  #5 1. Contactless PNB Card
7% 2. Contactless ICICI Card
«” 3. Contactless SBI Card

#< 4. Contactless Canara Card

Question ID : 65497831806
Status : Not Answered
Chosen Option : --

Q.15 In which year was the Badminton Association of India formed?
Ans X 1.1967

< 2.1956
o 3.1934
< 4.1978

Question ID : 65497831798
Status : Not Answered
Chosen Option : --

Q.16 According to the Union Budget 2020, when will India host G20 presidency?
Ans & 1.2022

< 2.2023

75 3.2020

< 4.2021

Question ID : 65497831800
Status : Not Answered
Chosen Option : --




Q.17 How many drugs were removed from the National List of Essential Medicines (NLEM)
in September 2021?

Ans o 1.16
X 2.19
< 3.39
< 4.36

Question ID : 65497831815
Status : Not Answered
Chosen Option : --

Q.18 Which of the following countries has the world’s largest ice rink called 'Rideau Canal'?
Ans  &* 1. Canada

7% 2. Switzerland

25 3.Russia

5 4.TheUs

Question ID : 65497831796
Status : Not Answered

Chosen Option : --

Q.19 According to which amended Act, can sons, daughters and their mothers get an equal
share of family property?
Ans £ 1.Hindu Amendment Act 1950

#< 2. Hindu Act 1956
4" 3. Hindu Succession Amendment Act 2005

2% 4. Hindu Succession Act 1950

Question ID : 65497831805
Status : Not Answered
Chosen Option : --

Q.20 Who among the following is the author of the book 'Letters to Mother'?
Ans & 1. Narendra Modi

25 2. Jawaharlal Nehru

#< 3. Manmohan Singh

7% 4. PV Narsimha Rao

Question ID : 65497831795
Status : Not Answered

Chosen Option : --

Q.21 Which of the following banks signed a $1 billion loan agreement with Japan Bank for
International Cooperation in October 2020?

Ans  #5 1.Bank of Baroda

7% 2. Industrial Development Bank of India
2% 3. Punjab National Bank
«” 4. State Bank of India

Question ID : 65497831799
Status : Not Answered
Chosen Option : --




Q.22 Change of aliquid into gas at any temperature below its boiling point is called:
Ans X 1.crystallisation

«# 2. evaporation
2% 3.deposition

2% 4.condensation

Question ID : 65497831807
Status : Answered
Chosen Option : 2

Q.23 Which of the following conditions could harm tea plantations?
Ans & 1. Temperature above 35°C

25 2. Rainfall ranging between 150-300 cm
7% 3. Hot and wet climate

7% 4. Plantations along shady trees

Question ID : 65497831816
Status : Not Answered
Chosen Option : --

Q.24 The Persian chronicles described the Muslim Sultans as:
Ans £ 1.The Incarnation of God

" 2. The Shadow of God
75 3. The Disciple of God
7% 4. The Follower of God

Question ID : 65497831803
Status : Not Answered
Chosen Option : --

Q.25 The Mughal Empire had started facing a crisis towards the end of the 17th century.
Which of the following was NOT a factor for it?

Ans £ 1. Aurangzeb had depleted the military and financial resources of his empire by fighting
along war in the Deccan.

2% 2. Under the successors of Aurangzeb, the efficiency of the imperial administration
broke down.

" 3. The later Mughals kept a good check on their powerful 'mansabdars'.

< 4. The peasant and zamindari rebellions in many parts of North and West India added to
the problems.

Question ID : 65497831804
Status : Not Answered
Chosen Option : --

Section : Part C Elementary Mathematics

Q-1 The curved surface area of a cylinder is 96 cm? and its volume is 672 cm?. Its diameter is:
Ans X 1. 32 cm

X 2. 26 cm

X3 24cm

« 4. 28 cm

Question ID : 65497831820
Status : Not Answered
Chosen Option : --




Q.2 3x 1 p
If3of5=2+ T 12;, what is the value of x ?

X
2%

Ans s ﬁ

33
25
13
34
33
15
11

~ 2.

< 3.

x4

Question ID : 65497831831
Status : Not Answered
Chosen Option : --

Q3 Find CI on ¥8.000 at 15% for 2 years 4 months compounded annually.
Ans1.%12,008

2. 1,264

3. 11,109

4. 33,109

Question ID : 65497831826
Status : Answered
Chosen Option : 4

Q.4 The list price of a fan is 4,500 and it is sold at 15% discount. If its final selling price, after allowing a second discount
percentage on the list price, is ¥3.213, then the second discount percentage is:

Ans 1 15%
v 2 16%

3. 12%

4 18%

Question ID : 65497831839
Status : Answered
Chosen Option : 2

Q.5 A certain number of men complete a piece of work in 60 days. If there were 9 more men, then the work would be

completed in 50 days. How many men are originally there?
Ans 21 45
2. 55
3. 48
4. 42

Question ID : 65497831830
Status : Answered
Chosen Option : 1




Q.6 When 154 [ of oil is removed from an upright cylindrical tank. the level falls down by 10 cm. What is the diameter (in
cm) of the tank?

(Taken=§)
Ans 1. 220
« 2. 140

3. 100

4. 70

Question ID : 65497831827
Status : Not Answered
Chosen Option : --

Q.7 Bike A moving at a speed of 30 km/h covers some distance for 2 hours, while another bike B moving at a speed of
35 kivh covers the same distance as bike A. What is the ratio of the time taken by bike A to that taken by bike B?

Ans  1.5:6
2.8:5
3.6:7

¥ 4.7:6

Question ID : 65497831832
Status : Answered
Chosen Option : 4

Q.8 Inanelection, a candidate got 75% of the total valid votes. If 20% of the total votes were declared invalid, and the total
numbers of votes is 560000, find the number of valid votes polled in favour of the candidate.

Ans 1. 363000
2. 330000

« 3. 336000

4. 346000

Question ID : 65497831824
Status : Answered
Chosen Option : 3

Q.9  Vessels A and B contain solutions of acid and water. The ratio of acid and water in vessel A is 7 : 5 and that in vessel B

is 11 : 13. Four litres of solution from vessel A is mixed with 5 litres of solution from vessel B. What is the ratio of acid
and water in the mixture?

Ans 1..35:37
2. 22221
3 37:35
4. 21:22

Question ID : 65497831836
Status : Answered
Chosen Option : 3




Q.10 The average weight of 20 students in a group is 54 kg. If 12 students of average weight 52 kg join the group and 7
students of average weight 56 kg leave the group, then what will be the average weight (in kg) of the remaining students
in the group?

Ans 1. 53.84
2. 51.96

3 5248
4.54.24

Question ID : 65497831835
Status : Not Answered
Chosen Option : --

Q.11 The time taken by a boat to go 34 km upstream is 25% more than the time it takes to go 40 km downstream. If the speed
of the stream is 4 km/h, then what is the speed (in km/h) of the boat in still water?

Ans 1. 21
2. 24
3. 20
4. 22

“

Question ID : 65497831842

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.12 Asum of money becomes 312,600 after 6 years and 21,000 after 9 years on compound interest. The sum invested is:

Ans 134,500
2. 4,600
3 34,536
4. T4,436

Question ID : 65497831822

. Not Attempted and
Status : Marked For Review

Chosen Option : --

Q.13 8 pensand 14 pencils cost as much as 12 pens and 5 pencils. The ratio of the cost of one pen to the cost of one pencil is:

Ans 1.9:5
2 9:4

3.7 748

4. 8:5

Question ID : 65497831819
Status : Not Answered
Chosen Option : --




Q.14 The income of X is 20% less than the income of Y, and the income of Z is 35% less than the combined incomes of X
and Y. By what percentage is the income of Z more than that of X?

Ans 1. 46.25%
2. 38.8%
3. 31.6%
4. 45.5%

Question ID : 65497831840
Status : Not Answered
Chosen Option : --

Q.15 A sum amounts to T4,260 in 5 years at the rate of 4% p.a. simple interest. What will be the simple interest (in ¥, nearest

to a %) on the same sum for 4% years at the rate of8§% pa.?

Ans 1. 1,250
2. 1,267
3. 1,285
4. 1,271

Question ID : 65497831837

Not Attempted and
Marked For Review

Chosen Option : --

Q.16 The total cost price of a watch and a fan is T1,170. Rama sells the watch at a profit of 20% and the fan at a profit of
25%. If he earns a total profit of 265, then the cost price of the watch is:

Ans 1. %550
2. T480
3. 3450
4. %620

Status :

Question ID : 65497831833
Status : Answered
Chosen Option : 1

Q.17 A shopkeeper offers successive discounts of 10% and k%. Customers get items marked at 21,200 for 2864. What is the

value of k?
Ans 1. 15

v 2 20
3. 80

Question ID : 65497831818
Status : Answered
Chosen Option : 2




7 simplify 2 - [F+2 42+ (3=

4 2

Ans 7

o 1l —
12

Xz.l

12
~ 3. H
12
11

4.

Xa ==
12

Question ID : 65497831828
Status : Answered
Chosen Option : 1

Q.19 The average weight of students in a class was 58.5 kg. When 8 more students with average weight of 64.5 kg joined the
class, then the average weight of all the students increased by 0.96 kg. What was the number of students, initially, in the
class?

Ans 1. 40
2. 32

3. 37

¥4 42

Question ID : 65497831838
Status : Not Answered
Chosen Option : --

Q.20 Anarticle was sold at x% profit for T875. When the same article was sold for 896, the profit made was 3% more than
the previous profit. The value of x is:

Ans 1. 30
2. 24
3 25

Question ID : 65497831821
Status : Answered
Chosen Option : 3

Q.21 Three persons start a morning walk together. Their steps measure 70 cm, 75 cm and 80 cm, respectively. What is the
minimum distance each should walk, so that all of them can cover the same distance in complete steps?

Ans 1. 8800 cm
+ 2. 8400 cm

3. 6400 cm

4. 8000 cm

Question ID : 65497831823
Status : Answered
Chosen Option : 2




Q.22 Kohli deals with second-hand goods. He bought a second-hand AC for ¥10,000. He spent T500 on transport and 32,000
on its repair and sold it for T15,000. What is his gain or loss percentage?

Ans 1. 20% gain
2. 18% gain
3. 18% loss
4. 20% loss

Question ID : 65497831829
Status : Answered
Chosen Option : 1

. A group of persons can complete a piece of work in a certain time. ere were 4 more persons, they would take 2 days

Q.23 f it i f work i in time. If th 4 the Id take 2 d
less to complete it. If there were 6 persons less, they would take 4 days more to complete it. What is the number of
persons, initially, in the group?

Ans 1. 40
2. 45

3. 36

4. 32

Question ID : 65497831841
Status : Not Answered
Chosen Option : --

Q.24 x is the smallest number of 5-digits which when divided by 10, 15, 24, 35 and 42. leaves a remainder 7 in each case.

The sum of the digits of x is:
Ans 1. 18

2. 19
3. 13
« 4 16

Question ID : 65497831834
Status : Not Answered
Chosen Option : --

Q.25 Two numbers are, respectively, 20% and 50% more than a third number. The ratio of the first 2 numbers is:

Ans 1. 2:3

_—

2.1:1
3 4:5
4.5:6

Question ID : 65497831825
Status : Answered
Chosen Option : 3

Section : Part D English



Q.1 Select the most appropriate meaning of the given idiom.

Bite someone’s head off
Ans X 1. Ask someone the same question again and again

7% 2.Go on repeating the same point
#< 3. Scold someone for misbehaving

" 4. Speak angrily without any reason

Question ID : 65497831844
Status : Not Answered
Chosen Option : --

Q.2 Select the option that can be used as a one-word substitute for the given group of
words.

Declare someone not guilty
Ans o 1. Acquit
7% 2.Sentence
#< 3.Pardon
< 4. Arrest

Question ID : 65497831860
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate synonym of the given word.
Grim
Ans & 1.Stern
75 2. Forceful

25 3. Joyful
7% 4. Arrogant

Question ID : 65497831859
Status : Not Answered
Chosen Option : --

Q.4 Select the INCORRECTLY spelt word.
Ans  #5 1. Melodrama

25 2. Melody
«" 3. Melodous
25 4. Malignant

Question ID : 65497831854
Status : Answered
Chosen Option : 3




Q.5 Select the most appropriate option to fill in the blank.
The landscape Hardy to write this fine poem.
Ans o 1.inspired

£5 2.induced

2% 3. pestered

X 4. incited

Question ID : 65497831855
Status : Not Answered
Chosen Option : --

Q.6 Select the most appropriate meaning of the given idiom.
Oncein ablue moon

Ans X 1.Happening usually

¥ 2. Taking place very rarely

2% 3. Doing something very often

25 4. When the moon rises

Question ID : 65497831848
Status : Not Answered
Chosen Option : --

Q.7 Thefollowing sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, select ‘No error’ as your answer.

In summers, we must take care / to drink enough water / to keep ourselves hydrated.
Ans X 1.todrink enough water
25 2. In summers we must take care
" 3. No error
25 4.1to keep ourselves hydrated

Question ID : 65497831845
Status : Not Answered
Chosen Option : --

Q.8 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The pack of wolves moving towards the children are a frightening sight.

Ans & 1. was afrightening sight
£5 2. No substitution required
#< 3. are an frightening sight
#< 4. had a frightening sight

Question ID : 65497831850
Status : Answered
Chosen Option : 1




Q.9 Select the option that can be used as a one-word substitute for the given group of
words.

One who has keen interest in good food
Ans o 1. Gourmet

5 2. Hungry

< 3. Greedy

5 4. Gallant

Question ID : 65497831853
Status : Not Answered
Chosen Option : --

Q.10 Select the option that can be used as a one-word substitute for the given group of
words.

A place where birds are kept
Ans X 1. Apiary

25 2. Aquarium

< 3. Attic

o 4. Aviary

Question ID : 65497831849
Status : Not Answered
Chosen Option : --

Q.11 Select the most appropriate option to fill in the blank.
He was by the judge for his courageous actions.
Ans X 1.criticised
2< 2.discouraged
¥ 3.commended

2% 4.reprimanded

Question ID : 65497831857
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate ANTONYM of the given word.
Desperate
Ans & 1. Content
7% 2. Determined
25 3. Frantic
#< 4. Daring

Question ID : 65497831852
Status : Answered
Chosen Option : 1




Q.13 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Everyone needs /to have ahome/ and to feel secured / and be wanted.
Ans X 1. and be wanted

75 2. Everyone needs

" 3. and to feel secured

7% 4.tohave a home

Question ID : 65497831858
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate option to fill in the blank.
Sometime back, onion used to be the poor man’s food as it was
Ans & 1.cheap

2< 2. inferior

7% 3. available

& 4. low

Question ID : 65497831843
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate ANTONYM of the given word.
Naive
Ans  «# 1. Experienced
25 2.Simple
2% 3. Impulsive
75 4. Sincere

Question ID : 65497831861
Status : Not Answered
Chosen Option : --

Q.16 Select the INCORRECTLY spelt word.
Ans X 1. Separate

«# 2. Desparate

7% 3.Considerate

#< 4. Disparate

Question ID : 65497831856
Status : Answered
Chosen Option : 4




Q.17 Parts of the given sentence have been given as options. One of them contains a
grammatical error. Select the option that has the error.

After amonth-long vacation due to the sudden floods, Mani’s school has been
resuming today.

Ans X 1. After
«” 2. has been resuming
25 3. due to the sudden floods

25 4. amonth-long vacation

Question ID : 65497831851
Status : Answered
Chosen Option : 2

Q.18 Select the option that will improve the underlined part of the sentence. In case no
improvement is needed, select ‘No improvement required'.

She frequent go to her old school to visit her teachers.
Ans X 1.frequent goes
«” 2. frequently goes

25 3. No improvement required

25 4. frequently going

Question ID : 65497831847
Status : Answered
Chosen Option : 2

Q.19 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select ‘No improvement required'.

Need you please hold my bag for a moment?
Ans X 1.No improvement required
5 2. May you
%" 3. Would you
Z< 4. Should you

Question ID : 65497831862
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate synonym of the given word.
Rift
Ans  #5 1.Boat
25 2. Heal
«” 3. Break
X 4.Bind

Question ID : 65497831846
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When Roald Amundsen first (1) the South Pole in 1911, he could plant (2)

flag there whilst, back in (3) Arctic, no explorer ever had the luxury (4) his
claim with a flag. If he did, it would (5) end up floating away to Greenland, making it a
totally useless exercise.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank no. 1.

Ans < 1. had reached

«# 2. reached
/< 3.reach
#< 4.reaching

Question ID : 65497831864
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When Roald Amundsen first (1)
flag there whilst, back in (3)

the South Pole in 1911, he could plant (2)
Arctic, no explorer ever had the luxury (4) his

claim with a flag. If he did, it would (5)

end up floating away to Greenland, making it a

totally useless exercise.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
o 1. his
X 2.its
< 3. your
5 4. her

Ans

Question ID : 65497831865
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

the South Pole in 1911, he could plant (2)
Arctic, no explorer ever had the luxury (4) his
end up floating away to Greenland, making it a

When Roald Amundsen first (1)
flag there whilst, back in (3)
claim with a flag. If he did, it would (5)

totally useless exercise.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.

X 1.an
K 2a

< 3.any
" 4.the

Ans

Question ID : 65497831866
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When Roald Amundsen first (1) the South Pole in 1911, he could plant (2)
flag there whilst, back in (3) Arctic, no explorer ever had the luxury (4) his
claim with a flag. If he did, it would (5) end up floating away to Greenland, making it a

totally useless exercise.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans  «# 1.tosecure

X 2.secure
< 3.secured
X 4. securing

Question ID : 65497831867
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When Roald Amundsen first (1) the South Pole in 1911, he could plant (2)
flag there whilst, back in (3) Arctic, no explorer ever had the luxury (4) his
claim with a flag. If he did, it would (5) end up floating away to Greenland, making it a

totally useless exercise.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans & 1. eventually

X 2. entirely
X 3. totally
X 4. happily

Question ID : 65497831868
Status : Answered
Chosen Option : 1

Section : Part D Hindi

1l WRF IS TMHY &

W 91 €T T o Wbl
Ans X 1. @7[
< 2.
o 3.9
Xa<c

Question ID : 65497831871
Status : Not Answered
Chosen Option : --




02 WY AWHIF 7 AT qUIGH I & & A

THH TR BT 9eE 8
Ans XHW
X2.FIW
o 38X
X4 H

Question ID : 65497831886
Status : Not Answered
Chosen Option : --

03 3T I [T 4T § 2
Ans xl_Sﬂﬂ'H
X 2. Sl
X3.3rﬁl?1'
o 4 P

Question ID : 65497831883
Status : Not Answered
Chosen Option : --

047 TEIHHY WAT@Y PHAE
Ans X 1.8 <R

o 2.31d R

X33d R

X43dd oR

Question ID : 65497831884
Status : Not Answered
Chosen Option : --

05 QUUY & YA T BT R|

J o
Ans o 13U T O
X 2. 30
X 3 HMA
X 4 3D

Question ID : 65497831873
Status : Not Answered
Chosen Option : --

Q.6 E{ﬁﬂﬁ?ﬂ o HINMH ST

I TAVWE IEFI $3
As 2 16T 55
X2.G:|$ TEY

X3

X4.3ﬂ[€ﬂﬂ’q

Question ID : 65497831882

Status : Not Answered
Chosen Option :




Q.7 fay Ty erz T T gl
2irE
Ans X1 offi
X 2. 3pnfia
V&R
X 4 fawg

Question ID : 65497831878
Status : Not Answered
Chosen Option : --

Q8 fig 7o B W & forg Tad IwgT 2Rg BT 9T |

fasoraT BT BRI SRA Ugfa®T___ gtem
Ans X 1. yreet
& 2.9
X 3. wgfea
X 4 fdwmr

Question ID : 65497831875
Status : Not Answered
Chosen Option : --

Q.9 3 Y are ¥ Ywifesa 37er B wfdwenfia # & v wawt Iuge fawe &1 o &)

e TR AR
Ans X 1. sgrgEi
X 2. g
« 3. YgrvaEn
X 4. sgra

Question ID : 65497831887
Status : Not Answered
Chosen Option : --

Q10 frerfeifaa ¥ & oz adht aren e @ w82
Ans X 1| g

X 2. d=am

X 3. w=mr

4.3

Question ID : 65497831885
Status : Not Answered
Chosen Option : --




Q11 A feg awrier ¥ foig ve org fay e fawse ¥ @ gfig)
s T gsftag
Ans X 1 @
o 2. 3fE
X 3. 38
X 4. fea
Question ID : 65497831879
Status : Not Answered
Chosen Option : --
Q12 fio e @Y Wi 3 o0 W Iwgem oRg T O B
RAgaRWRaBITE AN o awar i
Ans 1 fiRmr
X 2. g
X 3.
X 4. G
Question ID : 65497831874
Status : Not Answered
Chosen Option : --
Q.13 ‘3 ¥ T oA T qeral BT 37ef B §?
Ans o | TRy 3T I &Y ST
X 2. 37X M °1E STHT
3. f@As T8
X 4 urEr &
Question ID : 65497831870
Status : Not Answered
Chosen Option : --
Q.14 ‘grva ¥ sroar war 24 Bt faar’ awier ¥ AT v oRz g
Ans X 1.7 faueE
X 2. warfesr
X 3. waud
o 4. WaeHA
Question ID : 65497831888
Status : Not Answered
Chosen Option : --
Q.15 fy y arer %1 a8 W A B forr B JR 81 AR P R A &, A D R A & g
T & e W(1) it B(2) W T 3vm (3) P IR A #1 (4)
Ans X 1.4
K23
3.1
X 4.2
Question ID : 65497831877
Status : Not Answered

Chnsen Ontinn -




Q.16 fy My areRT 1 aE W A B o B gl #1 AR PR A 2, A PR A T N

weelt, Wr: 2rev 3 3 T W (1)) R st €, SiEt (2)/ @ e A vga ) (3) B g
T (4)

Ans 1.2
X 2.1
X33
X 4.4

Question ID : 65497831872
Status : Not Answered
Chosen Option : --

Q17 Ry 1y oz 1 e i

Wl
Ans ;(fl_gqf‘
2 fiom
X 3.y
X 48R

Question ID : 65497831880
Status : Not Answered
Chosen Option : --

Q.18 farr w2 B WRA & forT WarY JugerT oRg T o W

I A YR P, #
Ans X 1 faaRa

X 2.9ra
X 3. gador
4. wwfta

Question ID : 65497831876
Status : Not Answered
Chosen Option : --

Q.19 Ry ar fww ¥ A, 30 fawer o1 og7 ¥ o 7R Ky g @1 s o s g1
Wiy g B 1 g
Ans X 1 T gd S
X 2. g srpra dvm
X 3. g v ST
4. 3ravie & feafd e

Question ID : 65497831881
Status : Not Answered
Chosen Option : --




Q.20 Ry wy arerr ¥ Ywifea @ B Afavenfia & & fog v Iwge faee &1 a7 &3 Ak @
wierenfia &3 $ sraeawar 78 &, aY fAwer flt agem B smaegsar 78 § ®1 @ w)
a1 U BT urt gl

Ans X' 1ot sgera Y smaegdsar Tal 8l

X 2. 91t 381 9 & faerggl
X 3. Fe1ur ug w1 fiwrggl
o 4. 93 &1 381 Ut fuwrsyl

Question ID : 65497831869
Status : Not Answered

Chosen Option : --

Comprehension:
o Mg agede ¥ A 3 o 7 faw o 1 R R et S waraa @ Raw w2 W) s dend
o wat 3ugaw fasea 1aad o

WAtgg e (1) S 3, TG () T W IED &, 3BT UTei-UIN0T T 3T &iT Bt
21y i g (3) AT &1 U T 81 dT g BIH T B Teb| 3ICT, BH W) URYT 3 &, W N fewa
FATETE (4)____ B I i faerar &, Vg §, 98 g 2Aifd 37 Far §1 3nenr fiRar @
o g (5) % faaR & o AT E

SubQuestion No : 21
Q.21 wrerier ¥ fa werm (1) ¥ fory waiffies Fuge orz ghm-
Ans o 1 uror
X 2. 70
X 3.
X 4 aF

Chosen Option : --

Question ID : 65497831890
Status : Not Answered

Comprehension:

fow Mg agede ¥ A 7 o v fav e 1 AR Ry faesent B weraar @ Raw o W) wde den e

fore e 3uga fased &1 a5 W

wRdtag g (1) B &, T4 (2) T I TEd 7, 3BT UTeT-UI§0T s 37! I81T BT
Frudf e (3)_ T #1 ud T 8 Al 89 B T X T | 370aT, B il URYT 3Rd &, A A feTa
FRAdETE (4)__ R T A ) ofiderar €, FIE 7, 98 T 2Aifd 3= et 1 3narer fawaR #
o ea(5)_ FfRar B Romad E

SubQuestion No : 22
Q.22 werier 3 fiaw e (2) ¥ forg watfiie sugaa oz grm-
Ans X 1 @
2. 5fa
X 3Oy
X 4 ush

Question ID : 65497831891
Status : Not Answered
Chosen Option : --




Comprehension:

g Ty 3r7ede ¥ A 5 oz 7 fay MU B A Ry faseat B wemar & faw w2 W) de g@n s
fore T 3ugad faesed &1 |

WATgES (1) BT (2 T0 WIEA &, I7HT UTei-UIN0T B IhT T&iT Bt

By dtgd (3 wRar gl ud T 8 AV B9 BT A R T 3edT, BH WY URUT I &, T N feaa
FIAdEaE (4)__ B T A N ofiaerar &, T §, 98 R 2Aifd 3= e 81 3aerer fadwR #
forden (5 iR B Ronaa €l

SubQuestion No : 23
Q.23 rerier ¥ farr wer (3) % forg waffiie sugaa erz Brm-
Ans X 1 g
X 2.7gor
X 3. grsr
o 4. °UROT

Question ID : 65497831892
Status : Not Answered
Chosen Option : --

Comprehension:
g o gl A A 3B oz v ey MU 1 AR Ry faasent Bt weraa & Raw o W) wds dend
foig wadt 3ugad faeeq &1 &

WAGE RSN (1) P g, 90 (2 THWIEA &, 35T UTd=-9150T F¥b 7! 8T FHEdt
Brud Wl eN (3)_ ear &1 w7 2 Y 89 BIH 7 o b 37T, 89 S UROT 6 &, WA W fewg
FRAdEIE (4 B FA N e &, Vg ], 98 9 2Aifd 3= et 21 3naener fawaR ®
o g (5) % feRd R 1 RO UTd

SubQuestion No : 24
Q.24 Terier 3 fiarm Term (4) ¥ ey watfie suge org grm-
Ans X 1 dme
2.9
X 3. @0
X 4.9

Question ID : 65497831893
Status : Not Answered
Chosen Option : --

Comprehension:

g g srgese ¥ A 3o o 7 oy e 21 A Ry faweal Ht wermar & Raw v W) wde den d

o Ted 3ugad faaed &1 aad |

WAgg g (1) SR TE () ST WIED 2, 37T UTei-UI§0T Feb I7ehT 81T Bt
grud el (3)__ war 1 ud 7 2 aY 89 BT X T | 300aT, B Wil URUT 3Rd &, A A feaa
FIATETE (4 21 G W i aetar &, Ve &, 98 W 2Aifd Ica=T Bt 71 3w fawr §
o g (5) o foRaR &Y IRom T E

SubQuestion No : 25
Q.25 wrarver % fiarer wer (5) % fery waffiies 3wgew erg grm-
Ans & |
X 2. <l
X 3.wfass
X 4 TR

Question ID : 65497831894
Status : Not Answered
Chosen Option : --



Exam Date 30/11/2021
Exam Time : 12:30 PM - 2:00 PM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q.1 Select the number from among the given options that can replace the question mark
(?) in the following series.

144, 289, 484, ?, 1024
Ans X 1.625
X 2.725
X 3.676
o 4.729

Status : Answered

Chosen Option : 4

Q.2 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

_b_ppp_agp_pb_p_
Ans X 1l.bgbpbp
X 2.pbgpbqg
¥ 3.pgbpagp
X 4pgppab

O ' 1D 65407222929
Q -0 04If

Status : Answered
Chosen Option : 3

Read the given statements and conclusions carefully. Assuming that the informationgiven
in the statements is true, even if it appears to be at variance with commonly known facts,

decide which of the given conclusions logically follow(s) from the statements.

Statements:
All laptops are monitors.
All monitors are TVs.

Conclusions:

1. All monitors are laptops.
2. Some TVs are monitors.
3. No monitor is a laptop.

Ans & 1. Only conclusion 2 follows
X 2. Only conclusion 1 follows
X 3.0nly conclusion 3 follows
< 4. Both conclusions 2 and 3 follow
Question ID : 65497833810

Status: Answered
Chosen Option : 1




Q.4 Two different positions of the same dice marked with the letters F, G, P, Q. R and S are shown .

Select the letter that will be on the face opposite to the face having the letter ‘G’.

Ans X1 R
v2F
3. Q
X4 8

Question ID : 65497833803
Status : Answered
Chosen Option : 2

Q.5 Select the option that is related to the third term in the same way as the second term is
related to the first term.

PRINT : RNTPI :: LEMON : ?
Ans X 1.ELOMN
X 2.LNEMO
& 3.EONLM
X 4. MLNOE

Question ID : 65497833814
Status : Answered
Chosen Option : 3

Q.6 In an imaginary mathematical system, P denotes subtraction, Q denotes division, R
denotes addition and S denotes multiplication. All other rules of mathematics are the
same as in the existing system. What is the value of the given expression?

106 R115Q 23S 7P 19
Ans X 1.154

X 2.87
X 3.45
o 4.122

Question ID : 65497833802
Status : Answered
Chosen Option : 4

Q.7 Select the option that is related to the fourth number in the same way as the first
number is related to the second number.

54:9::7?:7
Ans X 1.56
X 2.62
o 3.42
X 4.60

Question ID : 65497833801
Status : Answered
Chosen Option : 3




Ans

Ans

Ans

o 1. HAA
X 2.UHH
X 3.0FF
X 4.1XX

Q.8 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the one that is different.

Question ID : 65497833817
Status : Answered
Chosen Option : 1

= l =

—i)

X 1 T
O

x: “f

xs ?

v QTD

mark (?)in it.

512 7?
111925
265579

X122
X 2.17
X 3.20
o 4.18

Q.9 Select the figure from among the given options that can replace the question mark (?) in the following series.

Question ID : 65497833824
Status : Answered
Chosen Option : 4

Q.10 Study the given pattern carefully and select the number that can replace the question

Question ID : 65497833811
Status : Answered
Chosen Option : 4




written in that language?
Ans X l.ca

X 2.9a
" 3.dol
X 4.ma

any of the ends. Who is sitting at the right end?
Ans & LR
X 2Q
X 3.N
X apP

will 'SEARCH' be coded in that language?
Ans 4 1.251839
X 2.253819
< 3.258139
X 4.253189

Ans X 1. MxR+Q
o 2. Q+MxR
X 3.M+RxQ
X 4. M-R+T

Q.11 In acertain code language, 'go went gone' is written as 'da ma dof', 'he had gone' is
written as 'ga dol ma’, and 'he was good' is written as 'na ga ca'. How will 'had' be

Question ID : 65497833809
Status : Answered
Chosen Option : 3

Q.12 Seven friends, M, N, O, P, Q, R and S, are sitting in a straight line, all facing towards the
north. N is sitting at the middle position. M is sitting between Q and P. Q is sitting to
the immediate left of N. Siis sitting to the immediate left of O. M and O are not sitting at

Question ID : 65497833800
Status : Answered
Chosen Option : 1

Q.13 In acertain code language, 'REACH' is coded as 85139 and 'SUN' is coded as 264. How

Question ID : 65497833818
Status : Answered
Chosen Option : 1

Q.14 ‘AxB’ means ‘Ais the brother of B’.‘A-B’ means ‘A is the mother of B’.‘A+B’ means ‘A
is the father of B’.Which of the following means ‘M is the son of Q'?

Question ID : 65497833816
Status : Answered
Chosen Option : 2




Q.15 Select the number from among the given options that can replace the question mark
(?) in the following series.

3,35, 99, 195, ?
Ans 4 1.323
X 2.225
X 3.325
X 4.299

Question ID : 65497833823
Status : Answered
Chosen Option : 1

Q16 study the given diagram carefully and answer the question that follows.

What is the number of teachers who are NEITHER rural NOR postgraduates?
Ans X1 45
2. 85
X3 35
X409

Question ID : 65497833808
Status : Answered
Chosen Option : 2

Q.17 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

GBL, JEO, MHR, ?
Ans X 1.QJV
X 2.03B
¥ 3. PKU
X 4. QKW

Question ID : 65497833805
Status : Answered
Chosen Option : 3




Q.18 When 12 is added to a number, itis equal to 2 times the sum of 4 and the number. Find
the number.

Ans X 1.10
X 2.5
X 3.8
o 4.4

Question ID : 65497833812
Status : Answered
Chosen Option : 4

Q.19 Seven friends, L, M, N, O, P, Q and R, are sitting around a circular table, with their
backs towards the centre. L is sitting to the immediate right of P. M is not the
neighbour of P. O is sitting third to the left of L. Q is sitting between R and O. Who is
sitting to the immediate right of L?

Ans X 1.N
& 2. M
X3Q
X 4R

Question ID : 65497833807
Status : Answered
Chosen Option : 2

Q.20 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Ans

1|8 e

X 3.

Question ID : 65497833813
Status : Answered
Chosen Option : 1




Q.21 ‘Patna’ is related to ‘Bihar’ in the same way as ‘Dispur’ is related to * .
Ans X 1. Nagaland

X 2. Mizoram
X 3.Meghalaya
o 4. Assam

Question ID : 65497833806
Status : Answered
Chosen Option : 4

Q.22 In a certain code language, ‘SPIRIT’ is written as ‘WKMIMG’. How will ‘GLOBAL’ be
written in that language?

Ans X 1.GTYOOX
X 2.GOTYXO
«” 3. KOSYEO
X 4.KSOEYO

Question ID : 65497833815
Status : Answered
Chosen Option : 3

Q.23 select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.

I
TRIANGLE|

Q
Ars 1. LEVIMCTE

2 LEIVUCTE
3 HIOUITAAT
+ dJOUNAIAT

Question ID : 65497833820
Status : Answered
Chosen Option : 4

Q.24 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

i. Declaim
ii. Decline
iii. Decisive
iv. Declare
v. Decode
Ans X 1.1, iv, i, iii, v
X 2.0, v, i, v
X 30w, i, v, i,
& 4dii, 0, iv, i, v

Question ID : 65497833821
Status : Answered
Chosen Option : 4




Q25 gelect the option in which the given figure is embedded (rotation is NOT allowed).

Ans

X 1.

o 3.

Question ID : 65497833804
Status : Answered
Chosen Option : 3

Section : Part B General Knolwedge and General Awareness

Q.1 In November 2020, who among the following inaugurated the ‘Lilawati Awards’, which
is an initiative of All India Council for Technical Education?

Ans X 1. Rajiv Kumar
X 2. Amit Shah
< 3.Harsh Vardhan
" 4. Ramesh Pokhriyal ‘Nishank’

Question ID : 65497833832
Status : Not Answered
Chosen Option : --

Q.2 Which of the following compounds contains an ionic bond?
Ans X 1. CHCI3

«” 2. NaCl
X 3Ny
X 4.CHy

Question ID : 65497833846
Status : Answered
Chosen Option : 2




Q.3 Manika Batrais famous as an Indian
Ans X 1. basketball player

X< 2. swimmer
¥ 3. table tennis player
X 4. athlete

Question ID : 65497833840
Status : Not Answered
Chosen Option : --

Q.4 Which among the following monuments is in Rajasthan?
Ans X 1. Ujjayanta Palace

«” 2. Hawa Mahal
X 3.Baralmambara

X 4.Bibi Ka Magbara

Question ID : 65497833827
Status : Not Answered
Chosen Option : --

Q.5 Through the Royal Titles Act (1876), Queen Victoria assumed the title of 'Kaiser-i-Hind'
or Queen Empress of India. Who was the Viceroy of British India when Queen Victoria
assumed the title 'Kaiser-i-Hind'?

Ans X 1. Lord Canning
X 2. Lord Ripon
X 3. Lord Lansdowne
" 4. Lord Lytton

Question ID : 65497833835
Status : Not Answered
Chosen Option : --

Q.6 Which of the following types of goods is defined as ’'the goods that are identical,
similar or comparable to another product, in the eyes of the consumer, such that they
can either fully or partly satisfy the same needs of the consumer’?

Ans X 1. Capital goods
X 2. Intermediate goods
" 3. Substitute goods

X 4. Consumer goods

Question ID : 65497833825
Status : Not Answered
Chosen Option : --

Q.7 Indiaand Bangladesh are the leading producers of
Ans o 1. jute

X 2. millet
X 3. coffee
X 4.tea

Question ID : 65497833843
Status : Not Answered
Chosen Option : --




Q.8 Which of the following was NOT the theme for Union Budget 2020-217?
Ans X 1. Develop a Caring Society

X 2. Aspirational India
X 3. Economic Development for All

«” 4. Education for All

Question ID : 65497833834
Status : Not Answered
Chosen Option : --

Q.9 Pressureis equal to thrust divided by
Ans o 1. area

X 2.mass
X 3.Force
X 4.length
Question ID : 65497833829
Status : Answered
Chosen Option : 1
Q.10 became the first Indian to win the Fed Cup Heart Award 2020 for Asia/Oceania

zone, for her successful return to the court post motherhood.
Ans X 1. Ankita Raina

X 2.Riya Bhatia
¥ 3. Sania Mirza
X 4. Rutuja Bhosale

Question ID : 65497833844
Status : Not Answered
Chosen Option : --

Q.11 Which of the following statements about the Equal Remuneration Act of 1976 is
INCORRECT?

Ans & 1. It applies to certain parts of India.
X 2.1tis a Central Legislation.
< 3.1t provides for prevention of discrimination against women at workplace.

X 4.1t provides for payment of equal remuneration to men and women, in the matter of
employment.

Question ID : 65497833839
Status : Not Answered
Chosen Option : --

Q.12 Malala Yousafzai is the youngest Nobel Peace Prize Laureate, having being awarded
the prize when she was only 17 years old. In which year was she awarded this Nobel
Peace Prize?

Ans X 1.2016
X 2.2019
X 3.2018
« 4.2014

Question ID : 65497833830
Status : Not Answered
Chosen Option : --




Q.13 The Ministry of Information and Broadcasting announced as the new
President of the Film and Television Institute of India in September 2020.

Ans X 1. Mahesh Bhatt

X 2. Anupam Kher

X 3. Gajendra Chauhan
" 4. Shekhar Kapur

Question ID : 65497833841
Status : Not Answered
Chosen Option : --

Q.14 Which of the following grasslands are present in North America?
Ans  # 1. Prairies

X 2. Steppes

X 3.Pampas

X 4.Downs

Question ID : 65497833826
Status : Answered
Chosen Option : 1

Q.15 How many members represent Himachal Pradesh in the 17th Lok Sabha as of 22
November 2020?

Ans X 1.12
X 2.6
o 3.4
X 4.8

Question ID : 65497833831
Status : Not Answered
Chosen Option : --

Q.16 Nizam-ul-Mulk Asaf Jah, the founder of Hyderabad state, was the most powerful
member at the court of the Farrukh Siyar.

Ans  &# 1. Mughal Emperor
X 2. Gupta Emperor
X 3. Khalji Emperor
X 4. Rajput Emperor

Question ID : 65497833838
Status : Not Answered
Chosen Option : --

Q.17 World Pneumonia Day is observed on:
Ans X 1.18 December

X 2.5 September
«” 3. 12 November
X 4.15 October

Question ID : 65497833848
Status : Marked For Review
Chosen Option : 3




Q.18 Who among the following is the founder of Fit India movement?
Ans X 1.Kiren Rjiju

X 2. Amit Shah

X 3. Narendra Modi

" 4. Suparno Satpathy

Question ID : 65497833833
Status : Not Answered
Chosen Option : --

Q.19 India completed the 50th anniversary of bank nationalisation programme in
Ans o 1.2019

X 2.2020
X 3.2017
X 4.2015

Question ID : 65497833849
Status : Not Answered
Chosen Option : --

Q.20 What is the maximum number of electrons that can be accommodated in the 'N' shell
of an atom?

Ans X 1.24
X 28
X34
o 4.32

Question ID : 65497833828
Status : Answered
Chosen Option : 4

Q.21 The language of administration under the Delhi Sultans was:
Ans X 1. Urdu

& 2. Persian
< 3. Turkish
X 4. Sanskrit
Question ID : 65497833837
Status : Not Answered
Chosen Option : --
Q.22 Jallikattu is a held mainly in Tamil Nadu.

Ans X 1. kite flying festival
X 2. candle lighting festival
" 3. bull taming festival
X 4. buffalo fighting festival

Question ID : 65497833842
Status : Not Answered
Chosen Option : --




Q.23 Who among the following Australian cricketers won the Allan Border Medal 20207
Ans X 1. Cameron Green

X 2. Glenn Maxwell
«# 3. David Warner

X 4. Pat Cummins

Question ID : 65497833845
Status : Not Answered
Chosen Option : --

Q.24 Which of the following movements against the British has been INCORRECTLY
matched with its leader?

Ans X 1. Paika Rebellion - Bakshi Jagabandhu
¥ 2. Pagal Panthi Revolt - Tirot Sing
X 3.Kol Uprising - Buddhu Bhagat

X 4. Ahom Revolt - Gomdhar Konwar

Question ID : 65497833847
Status : Not Answered
Chosen Option : --

Q.25 A kharif crop used both as food and fodder is:
Ans X 1. jowar

X 2.bajra
«¥ 3. maize
X 4. wheat

Question ID : 65497833836
Status : Marked For Review
Chosen Option : 1

Section : Part C Elementary Mathematics

Q.1 With a uniform speed, a car covers a distance in 6 hours. Had the speed been increased by 10 km/h, the same distance
could have been covered in 5 hours. The distance covered by the car is:

Ans o7 1. 300 km
X 2. 200 km
X3 250 km
X 4. 350 km

Question ID : 65497833858
Status : Answered
Chosen Option : 1

Q.2 What is to be added to 35% of 440 so that the sum may be equal to 42% of 550?
Ans X170
X2 75
3 77
X4 65

Question ID : 65497833856
Status : Answered
Chosen Option : 3




Q.3 When the speed of a train is decreased by 25%, it takes 42 minutes more to cover the same distance. What is the time
(in hours) taken by the train to cover the same distance with its actual speed?

Ans

vt
10
1
215
3.1f
5

1
4, 2=
5

Question ID : 65497833871
Status : Answered
Chosen Option : 1

Q.4 The compound interest on a certain sum for 2 years at 10% per annum is T651 (interest compounded yearly). The
simple interest on the same sum for double the time at half the rate of interest per annum is:

Ans 13600
2. 3630
3. 3520
4. %620

Question ID : 65497833862
Status : Answered
Chosen Option : 4

Q.5  Aand B undertake to do a job for ¥6.000. A can do it in 10 days and B can do it in 12 days. With the assistance of C,
they finish the work in 4 days. How much should C be paid for his work?

Ans 132,400
2. 31,500
3. 1,400
4. Z1,600

Question ID : 65497833857
Status : Answered
Chosen Option : 4

Q.6 A sum of money is distributed among P, Q and R in the ratio 13 : 17 : 25, respectively. If R gets 6,800 more than Q,
then the difference between P's share and Q's share is:

Ans 1. 33,400
2. 3,200
3. 33,600
4. 34,400

Question ID : 65497833859
Status : Answered
Chosen Option : 1




Q.7 A man borrows Z15.000 at 15% p-a. compound interest. At the end of every year. he pays 22.500 as part repayment.
How much does he still owe after three such instalments?

Ans 1.314,131.87
2. ¥13,175.66
3. 312,150
4.312,642.50

Question ID : 65497833873
Status : Answered
Chosen Option : 1

Q.8 When a plot is sold for 34,080, the owner loses 20%. At what price must that plot be sold in order to gain 20%?

Ans 150,120
2. 51,120
3. 341,120
4. T51,020

Question ID : 65497833861
Status : Answered
Chosen Option : 2

Q.9 25 and 750 are the highest common factor and the lowest common multiple of two numbers, respectively. If one of the
two numbers is 75, find the other number.

Ans 1. 250
X2 175
X3 50
x4 2

n

Question ID : 65497833863
Status : Answered
Chosen Option : 1

Q.10 The average of five consecutive even numbers is 36. If the next five consecutive odd numbers are included, then what is
the average of all the numbers?

Ans X139
X2 41.25
v 3 405
X 4. 37.75

Question ID : 65497833851
Status : Answered
Chosen Option : 3




Q.11 The average weight of 24 boys is 7 kg more than the average weight of 28 girls. If the total weight of 24 boys is 1080
kg, then the total weight of 28 girls is:

Ans 11074 kg
2. 1064 kg
5. 1054 ke
s 1046 kg

Question ID : 65497833854

Status : Answered

Chosen Option : 2

Q.12 4 7 8 ;
If2 of8+3+3;+x—4;=6;.whatlsthevalueofx?

Ans

X 1

X
NIy Ol g Wi

Question ID : 65497833865

Status : Answered

Chosen Option : 2

Q13 The height of a right circular cylinder is 14 cm and its curved surface is 264 em?. Its volume is:

Ans 1 396 cm?
2. 290 cm?
3. 366 cm?®

4. 252 cm?

Question ID : 65497833874

Status : Answered

Chosen Option : 1

Q.14 An article is marked at ¥700. If it is sold at a discount of 35%, then the selling price becomes g times of its

cost price. What is its cost price (in 3)?

Ans x 1 2?3

2. 455
3. 291

4420

Question ID : 65497833868

Status : Answered

Chosen Option : 1




Q15 5 :
The value of3+4iof—+3+ = X li—-1-X3+ 1lofE is:
5 5 16 3 5 4 & 4 s

15
Ans
o1 01
40
x2 12
5
x3 2
4
xa 21
10

Question ID : 65497833870
Status : Answered
Chosen Option : 1

Q.16 Ravi borrowed 1 ,800 at 6% per annum and 32,800 at 7% per annum simple interest for the same duration and paid
32,736 in all as interest. His friend Shiv borrowed 2,500 at 8% per annum simple interest for the same duration. How
much (in T) Shiv had to pay to clear off the loan?

Ans 1. 3,900
2. 4,500
3. 4,300
4. 4,000

Question ID : 65497833853
Status : Answered
Chosen Option : 3

Q.17 32 workers working for 9 hours a day can finish a work in 14 days. If each worker works for 8 hours per day, how many
workers are required to finish the same work in 18 days?

Ans X1 30
X2 24
X3 26
4 28

Question ID : 65497833867
Status : Answered
Chosen Option : 4

Q.18 The single equivalent discount for three successive discounts of 8%, 12.5% and 20% is:
Ans X1 40.5%
2. 35.6%
X3 35.4%
X 4. 36.5%

Question ID : 65497833855
Status : Answered
Chosen Option : 2




Q.19 35 litres of a mixture contain milk and water in the ratio 3 : 2. If 4 litres of this mixture be replaced by 4 litres of milk,
then find the ratio of milk to the water in the new mixture.

Ans X1 4:7
%2335
3 5:2
X4 3:7

Question ID : 65497833872
Status : Answered
Chosen Option : 3

Q.20 What will be the least number of marbles with Seema, if she can arrange them in rows of 6, 10, 12 and 15 marbles each,
and the number is also a perfect square?

Ans X1 625
¥ 2 900
X3 225
X 4. 400

Question ID : 65497833850
Status : Answered
Chosen Option : 2

. A student got marks and require more marks to secure the minimum o marks to pass. Find the maximum
21 d 160 marks and required 50 ki the mini 35% marks Find th i
marks.

Ans 1600
X2 750
X 3. 800
X 4. 500

Question ID : 65497833864
Status : Answered
Chosen Option : 1

Q.22 %1,26.672 is divided between A and B in the ratio 7 : 9. The difference between the share of B and that of A (in ) is:

Ans 1. 18,354
2. 21317
3. 15,834
4. 13,485

Question ID : 65497833852
Status : Answered
Chosen Option : 3

Q.23 The perimeter and area of a rectangular sheet are 40 m and 72 m?, respectively. The length of the diagonal will be:

Ans X1 14 m
X2 12m
« 3 16m
X4 10m

Question ID : 65497833860
Status : Answered
Chosen Option : 3




Q.24 A sold an article to B at 20% profit. B sold it to C at 12% loss and C sold it to D at 25% profit. If B had a loss of 372,
then D would have bought the article for:

Ans 1. %660
2. 3396
3. 504
4. 528

Question ID : 65497833869
Status : Answered
Chosen Option : 1

Q.25 Aman bought some eggs at T60 per dozen and bought another lot of the same number of eggs at T50 per dozen. If he
gained 930 after selling all these eggs at T70 per dozen, what was the total number of eggs bought by him?

Ans  X1. 54 dozens
X 2. 48 dozens
+ 3. 62 dozens
X 4. 70 dozens

Question ID : 65497833866
Status : Answered
Chosen Option : 3

Section : Part D English

Q.1 Select the option that is closest in meaning to the underlined idiom/phrase in the given
sentence.

Losing my job was ablessing_in disquise because | got to spend more time with my
family.

Ans X 1.task that appeared difficult at first but became easy later
X 2. ajoyful event that made everybody happy
" 3. event that seemed bad at first but resulted in something good later

X 4. agood thing that happened only once

Question ID : 65497833886
Status : Answered
Chosen Option : 3

Q.2 Select the most appropriate meaning of the given idiom.

Tolose one’s head
Ans X 1. To be happy

X 2. To take responsibility
«” 3. To become upset or angry
X< 4. To be robbed

Question ID : 65497833883
Status : Answered
Chosen Option : 3




Q.3 Thefollowing sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Mr. Ghosh is senior / than Mr. Sen, / so he must be / promoted first.
Ans X 1. Mr. Ghosh is senior

X 2.s0 he must be
" 3.than Mr. Sen

X 4. promoted first

Question ID : 65497833877
Status : Answered
Chosen Option : 3

Q.4 Select the most appropriate synonym of the given word.
Brutal
Ans X 1. Considerate
X 2. Cheerful
" 3. Cruel
X 4. Courteous

Question ID : 65497833878
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Trees can live in an extremely long time —tens, hundreds, even thousands of years.

Ans X 1.can live with an extremely long time
" 2. can live for an extremely long time
X 3.can live in an extremely longest time

X 4. No substitution required

Question ID : 65497833884
Status : Answered
Chosen Option : 2

Q.6 Select the option that can be used as a one-word substitute for the given group of
words.

A dummy used to display clothes in a shop window
Ans  # 1. Mannequin
X 2. Supermodel
X 3. Statue
X 4. Model

Question ID : 65497833894
Status : Answered
Chosen Option : 1




Ans

Ans

Ans

Q.10

Ans

Q.7 Select the most appropriate synonym of the given word.

Perforate
«# 1. Pierce

X 2.Fold
X 3. Tear
X 4. Crack

Q.8 Select the correctly spelt word.

" 1. Schemes

X 2. Malnourised
X 3.Recognisable
X 4. Intigrated

Q.9 Select the most appropriate option to fill in the blank.

Itis important to with the police and listen to their advice.
X 1. cope
X 2. combine
< 3.concern

«" 4. cooperate

Select the most appropriate option to fill in the blank.
Nobody seems to be in visiting museums.

X 1. attracted

X 2. anxious

X 3. obsessed

«” 4. interested

Question ID : 65497833893
Status : Answered
Chosen Option : 3

Question ID : 65497833879
Status : Answered
Chosen Option : 1

Question ID : 65497833887
Status : Answered
Chosen Option : 4

Question ID : 65497833882
Status : Answered
Chosen Option : 4




Q.11 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.
He will not get admission in a good college unless he will work hard.

Ans X 1. would work

4 2. No substitution required
4# 3. works

& 4.is working

Question ID : 65497833875
Status : Answered
Chosen Option : 3

Q.12 Select the option that can be used as a one-word substitute for the given group|of
wdrds.

AHle to be eaten

Ans X 1. Decibel
&K 2. Scribble
& 3.Hobble
4# 4. Edible

Question ID : 65497833876
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate option to fill in the blank.

The of directors gave their approval for the project.

Ans A 1.team

4# 2. board
& 3.bunch
&K 4.band

Question ID : 65497833880
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate ANTONYM of the given word.

Remorse
Ans & 1.Indifference

A 2. Guilt
K 3. Anger

a4

K 4. Denial

a4

Question ID : 65497833889
Status : Answered
Chosen Option : 2




Q.15 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Emma agreed / thinking of an excuse / to get Paul / out of the house.
Ans & 1.thinking of an excuse

X 2. Emma agreed

X 3.to get Paul

X 4. out of the house

Question ID : 65497833892
Status : Answered
Chosen Option : 1

Q.16 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Why do you think / why John /refused to / marry her?
Ans  &# 1.why John

X 2. marry her

X 3.Why do you think

X 4. refused to

Question ID : 65497833888
Status : Answered
Chosen Option : 1

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

Owing money to someone
Ans & 1. Indebted

X 2.Exchanged

X 3. Loaned

X 4. Donated

Question ID : 65497833890
Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Vanillaice cream with chocolate sauce is my favourite.

Ans X 1. with chocolate sauce are

«” 2. No substitution required
X 3. with chocolate sauces are

X 4. with chocolate sauce is being

Question ID : 65497833885
Status : Answered
Chosen Option : 2




Q.19 Select the INCORRECTLY spelt word.
Ans X 1. Omission

X 2.Remission
¥ 3. Comission
X 4. Submission

Question ID : 65497833891
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate ANTONYM of the given word.

United
Ans X 1.Bonded

X 2. Linked
" 3. Separated
X 4. Together

Question ID : 65497833881
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the temperature (1) during the summer season, many people choose to use air-
conditioners to keep their homes and offices cool. Air-conditioners, which were once regarded
as a luxury, have now almost become a/an (2) . The air-conditioning system not only
cools the indoor air down but also filters out harmful pollutants. This helps reduce dust, pollen
and allergens inside the home and (3) the quality of air inside the house or room.
However, along with the (4) , there are some disadvantages. A major disadvantage is
that if the filter inside the air-conditioner is not cleaned and maintained regularly, it (5)

to problems such as allergic colds, fever, headaches and dryness of the skin.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans X 1.raises

X 2.gains
" 3.rises
X 4. extends

Question ID : 65497833896
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the temperature (1) during the summer season, many people choose to use air-
conditioners to keep their homes and offices cool. Air-conditioners, which were once regarded
as a luxury, have now almost become a/an (2) . The air-conditioning system not only
cools the indoor air down but also filters out harmful pollutants. This helps reduce dust, pollen
and allergens inside the home and (3) the quality of air inside the house or room.
However, along with the (4) , there are some disadvantages. A major disadvantage is
that if the filter inside the air-conditioner is not cleaned and maintained regularly, it (5)

to problems such as allergic colds, fever, headaches and dryness of the skin.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans & 1. necessity

X 2.demand
X 3.urgency

X 4. essence

Question ID : 65497833897
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the temperature (1) during the summer season, many people choose to use air-
conditioners to keep their homes and offices cool. Air-conditioners, which were once regarded
as a luxury, have now almost become a/an (2) . The air-conditioning system not only
cools the indoor air down but also filters out harmful pollutants. This helps reduce dust, pollen
and allergens inside the home and (3) the quality of air inside the house or room.
However, along with the (4) , there are some disadvantages. A major disadvantage is
that if the filter inside the air-conditioner is not cleaned and maintained regularly, it (5)

to problems such as allergic colds, fever, headaches and dryness of the skin.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans  &* 1.improve

X 2.develops
X 3.alters
X 4.reforms

Question ID : 65497833898
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the temperature (1) during the summer season, many people choose to use air-
conditioners to keep their homes and offices cool. Air-conditioners, which were once regarded
as a luxury, have now almost become a/an (2) . The air-conditioning system not only
cools the indoor air down but also filters out harmful pollutants. This helps reduce dust, pollen
and allergens inside the home and (3) the quality of air inside the house or room.
However, along with the (4) , there are some disadvantages. A major disadvantage is
that if the filter inside the air-conditioner is not cleaned and maintained regularly, it (5)

to problems such as allergic colds, fever, headaches and dryness of the skin.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans & 1. benefits

X 2. credits
X 3. virtue
X 4. merit

Question ID : 65497833899
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the temperature (1) during the summer season, many people choose to use air-
conditioners to keep their homes and offices cool. Air-conditioners, which were once regarded
as a luxury, have now almost become a/an (2) . The air-conditioning system not only
cools the indoor air down but also filters out harmful pollutants. This helps reduce dust, pollen
and allergens inside the home and (3) the quality of air inside the house or room.
However, along with the (4) , there are some disadvantages. A major disadvantage is
that if the filter inside the air-conditioner is not cleaned and maintained regularly, it (5)

to problems such as allergic colds, fever, headaches and dryness of the skin.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans  &# 1. could lead

X 2. led
X 3.leads
X 4.is leading

Question ID : 65497833900
Status : Answered
Chosen Option : 3

Section : Part D Hindi

Q. i FeiehT U1 Gl § -
Ans X 1. ©HA

o2
X 3,909

Xa g

Question ID : 65497833917
Status : Not Answered
Chosen Option : --




e Tl
Ans o 1.2
X 23
X 3.4
X 4.1

Question ID : 65497833911
Status : Not Answered

Chosen Oetion -
Q3 W AANAAY  PI I M

Ans xltﬂﬂiﬁw
o 2 T30 6
X3.q'ﬁ?ﬁ5f$
X 4 U0 E

Question ID : 65497833904
Status : Not Answered
Chosen Option.: --
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Ans X1 :ﬂiﬂ

X2 MY

o 3 THH

X4 9¢7

Question ID : 65497833913
Status : Not Answered
Chosen Option.: --
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Question ID : 65497833910
Status : Not Answered
Chosen Option.: --
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Question ID : 65497833916
Status : Not Answered
Chosen Option : --

Q.7 weft adt arer oz BT T BRI
Ans 1 iy

X 2. mffg

X 3.1nfig

X 4. Tiffg

Question ID : 65497833903
Status : Not Answered
Chosen Option : --

Q8 e 2 $Y yfd w7 ¥ o walfie sugem org 1 ag &1

3T BT g1 3R e B ufa a1
Ans X 1. wEw
o 2. T
X 3. 3fis
X 4. 3@

Question ID : 65497833909
Status : Not Answered
Chosen Option : --

Q.9 Ry Wy arew ¥ Yaifien ww B wfewenfia w1 & o waffie suge e o1 o w0 R
wierenfia w3 Y sracawar 7 &, aY fiwwr it agema B smacawar 78 § &1 @ )
SRt ge o ¥, e o) s fiem 31

Ans X' 1. fRoRTy 1 Hel fiewr #1

X 2. foseit aeerma Y srmaeasar TE B
X 3. Ry & wor fierd £
o 4. FRoRmy @Y e fiewdt 31

Question ID : 65497833905
Status : Not Answered
Chosen Option : --




Q.10 puR w1E B 31 Jerad 1 3 wef wre Hiferg-
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X 4. Srara & &

Question ID : 65497833919
Status : Not Answered
Chosen Option : --
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Question ID : 65497833915
Status : Not Answered
Chosen Option : --

Q.12 Ry 7y arer ¥ Ywifisa @ B wferenfia s & fow waifie suge fiee &1 o &) ARk W@
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Question ID : 65497833906
Status : Not Answered
Chosen Option : --

Q13 figw vorm Y gfF B ¥ e watfie suge o ®1 9a7 #11

stpordamda e _____ I A
Ans X | uffifs
X 2. it
X 3. et
4. 3rcE

Question ID : 65497833901
Status : Not Answered
Chosen Option : --




Q.14 Ry 7y 2rg ¥ wHTATRIT 21z 1 T B
W
Ans X 1 wfae
o 2.7
X 3.5v1g
X 4. e

Question ID : 65497833908
Status : Not Answered
Chosen Option : --

Q15 femr zem #Y gfdf w7 ¥ g waffie Fuge erg 1 aga &1

yradvend @i
Ans X 1. w\m
o 2.5
X 3. gdter
X 4 @t

Question ID : 65497833920
Status : Not Answered
Chosen Option : --

Q.16 Ry my enz A -

b o
Ans 1 3T
X 2. yafea
X 3.yafa
X 4. swenfa

Question ID : 65497833912
Status : Not Answered
Chosen Option : --

Q17 Ry g fereed ¥ } ffefEa areaier & g v ez @1 ag7 Hifow-

39 321 & W fdearraTa #RA A
Ans X1 Zamnft
o 2 e
X 3 ghfer
X 4. faeareerd

Question ID : 65497833914
Status : Not Answered
Chosen Option : --




Q.18 gg 3iwyes Yaifea ong w1 wd e qame-
Ans X 1 3as

X 2. 3w

o 3. AeuHES

X 4.3

Question ID : 65497833918
Status : Not Answered
Chosen Option : --

Q.19 Ry e areier F for e oz difoig-
it 31&RY Y wgAr-foraaT arar g
Ans X 1 wdy
o 2.98R
X 3. 3%
X 4. fer

Question ID : 65497833902
Status : Not Answered
Chosen Option : --

Q-20 {3 wwy averr T g Wi ATa B forrdl B gR 31 AR BE IR 7 &, A B IR T H & g
T 39 39T (1)) ara B wretor FA & o (2)/ fawpe dFar §? (3) S gR 7§ (4)
Ans X 1.4
X 2.1
X33
42

Question ID : 65497833907
Status : Not Answered
Chosen Option : --

Comprehension:

g g merier ¥ & 3 2req ger g g 1 A Ry el S g ¥ Raw sl H1 gfd a1 yds
wear & forg waffie suga fasea o oa7 o

geiar 7 TR & R 3g-o - fieg wd & (1) fasam gt wepfa &1

(2 &3z, o, wfe anf v &) goriters ¥ 39 65 pfd & amenfais 3R wmifSie var Y
() Y 3R gaR A g sl wrgd Ty R & (4) ¥ gt o st
wepfar & 3rcita 3R wldea W e iR 7 &1 (5) 3l

SubQuestion No : 21
Q-21 rerier 3 fierm T2 (1) & oy walfie 3wgem org grm-
Ans X 1. mEm
X 2. %R
3. TR
X 4. yER

Question ID : 65497833922
Status : Not Answered
Chosen Option : --




Q.22

Ans

Comprehension:

g g marter ¥ A 3B oz geT Ry MY 1 A oy et Bt werar & Raw wem B gfd &) wde
wea & forg waffis Iuga fawe o1 aa7 |

GERIERT 7 ARG & gRT A% -Twd fag ud a1 (1) foam| gardt wpfa &
(2 & 3g, omem, wyfd anfE v €1 qoriiare A 39 S¥pfa & smanfoias 3R arifors v Y
() Y 3R 7R I ¢ 3Rl s 1 rrafane’ & (4) J fRgalf o st
wepfar & arclia 3R wldsa w3 ik 7 &1 (5) el

SubQuestion No : 22
Trerier % fiam T (2) & foig waffies suge oz gm-
X 1 3mR
o 2. 3AUR
X 3.3gR
X 4. 3R

Question ID : 65497833923
Status : Not Answered
Chosen Option : --

Q.23

Ans

Comprehension:

g e marier ¥ & 3B oz ger iy My ¥l A oy et Bt wgrar  Raw wemi B gfd 1 wde
Fe o forg waffas sugan fawe o1 =g o

gereiter ¥ THARauE & gRT dg-omrE-aed fieg ud @1 (1) fosam ot Tpfa
) B <, ome, T af Ty &1 gorilare ¥ 39 Sepfa & amanfaiss ik wrmfSis et b
3) B 31K gAR WA B¢ 3Rl W e arERane e & (4) @ fRrgail o arot
wwphd & rdta 3R wfdss w 3 3ik 7 &1 (5) g3l
SubQuestion No : 23
e 3 fia T (3) ¥ o waffie swge oz Brm-

X 1.z

X 2w

X 3.7

o 4.an

Question ID : 65497833924

Status : Not Answered

Chosen Option : --

Comprehension:

fo o merier ¥ / B 2rex g g e ¥ A Ry Rt B warar I faw wem H gfd ) w@dS
wear & ferg waffae Iugan fasea o =g ai

G ¥ THARAAT & gRT A-2ma-Hwd fag v &1 (1) fosam| Tl Tgpfa &t
Q___ @3, amem, wfa 3l ver €1 gereitar A 3% Wpha & menfais 3R wrifies e Y
@) Y 3R gAR T B¢ 3reef weqd g1 TR & (4) H fegali 7 3Rt
Hephc & el IR W W amer sik a1 (5)_ gami

SubQuestion No : 24

Q.24 rarier % fir w2 (4) & oy waiftie sugw orz grm-

Ans

X L HHE

X 2. fa@aw=
o 3. 95aeA
X 4. faas-ares

Question ID : 65497833925

Status : Not Answered

Chosen Option : --




Comprehension:
fog o marier ¥ F B 216z g Xy MY ¥ A Ry Rt H wewar I Raw wml H gfd ) w@s
Fen & forg waffie Iuges fiwea o1 ag7

e 1 THEIRAATE’ % gRT de-2e-Hwd fawg v &1 (1) fasam1 gt Hepha &t
(Q___ #ag, e, wfa 3nf v §1 gerilars A 39 wepha & smenfcis sk armfors gar Y
() o 3R gR A ¥ el wegd by TraRanre B (4)_ @ fegaii ¥ st
Tepfa & rdta 3R wfdsg o3 3meen 3k wd &1 (5) B3I

SubQuestion No : 26
Q.25 rrier % farer v (5) ¥ forg waffies 3w org grm-
Ans X 1 fa=R
X 2.3
o 3. ¥R
X 4. vEr

Question ID : 65497833926
Status : Not Answered
Chosen Option : --
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Section : Part A General Intelligence and Reasoning
oL f TF FYHPITAF I, RWAT| WAF I AT T TIWHR
DQ_R_D_MR_D_M_T
Ans X 1.MQTTQR
X 2.MTQRQT
X3MTQTRQ
¥ 4AMTQTQR

OuestiondD 65407225472
Q2 o= I G-

Status : Answered
Chosen Option : 4

02 TRY TWE UV, T 4 0 $Y 0¥ 8 WHH § IR U5 0 g1 3 370 & < 4G
DIIYd D WU|
Ans & 1.NRV
X 2.QvB
X 3.8XD
X 4.YDJ

Status : Answered

Chosen Option : 1

03 W & BT P WU, TR U ¥ d) 44U B, 1 (W VS Pl Ugel UG 9 5|
BEGIN : EBGNI :: CADET : ?
Ans X 1.ACTDE
X 2. TEDCA
X 3.ADFTE
" 4. ACDTE
-~ QuestionID : 65497835469
Status : Answered
Chosen Option : 4




Q4 T T TF T W H, pLan Pl oug TN AT §, R not Bl upo TEI ST | SH F ¢
WHMOTHERﬁWWWWﬂ?

Ans X 1.SFIUQM
" 2. SFIUPN
X 3.SFIVQN
X 4.SGIURN

Question ID : 65497835470
Status : Answered
Chosen Option : 1

Q.5 If ‘A’ denotes ‘addition’, ‘B’ denotes ‘multiplication’, ‘C’ denotes ‘subtraction’, and ‘D’
denotes ‘division’, then what will be the value of the following expression?

82A 126 B 16 D112C 73
Ans X 1.52
o 2.27
X 3.72
X 4.25

Question ID : 65497835466
Status : Answered
Chosen Option : 2

Q.6 An amount of X870 is divided between Urmi and Kripain the ratio of 18: 11,

respectively, whereas an amount of X960 is divided between Poorvi and Mrinal in the
ratio of 5: 7, respectively. Who gets the maximum amount of money among all four?

Ans X 1.Kripa
X 2. Urmi
X 3. Poorvi
«” 4. Mrinal

Question ID : 65497835458
Status : Answered
Chosen Option : 2




Q7 =g fameq &1 T Y orwd & 712 gy wfenfed & (el & gomr & Aty a8 )1

+

Ans

o 4.

Question ID : 65497835468
Status : Answered
Chosen Option : 1

Q.8 & 31 ofic #r AgaT TH UF TATIT G ¥ TH YK & §a8 O H, 37 W & 9494 F{, 3 3w D
M T BTk & AT T Bk W ERM|

Ans 1 E
2. B
3. C
“ F

Question ID : 65497835467
Status : Answered
Chosen Option : 2




Q9 JUTQ 9% PITUHPD WU UMY & 3§ ADICAAE o9 AHIY oy I
AN BId Bl
1. Carpet
2. Caring
3. Carrot

4. Creamy
5. Creek

Ans X 1.2,1,3,54
X 21,2345
& 3.21,345
X 4.2,31,4,5

Question ID : 65497835472

Status : Answered

Chosen Option : 3

Q.10 In a cafeteria, seven customers (B, G, H, K, L, M and N) sit on three different benches
(X, Y and Z). Each bench must have at least two customers sitting on it. Customer G
does not sit with customers K, L and M. Customer B sits only with customer N.
Customer K sits on Bench X with his best friends. Customer H sits on Bench Z. On
which bench are there three customers?

Ans  ¢# 1. Only Bench X
X 2.Bench X or Bench Y
X 3.0nlyBenchZz
X 4.0nlyBench Y

Question ID : 65497835462

. Not Attempted and
Status - Marked For Review

Chosen Option : --

Q.11 =it & 37 wH==T 1 TA HAT FeAF Few F FaY F QYU 71T 37 3G @ TIcs T F Hw
T T B

@
A XL grer, AT, WA

2. FISAATSES, Tehrer, THEAT
3. HTATT, AfFT, Fhrer
4, qoﬁﬂ'i', STIé', m'ﬂ'{

Question ID : 65497835463

Status : Answered

Chosen Option : 3




Ans

Ans

Q.12 Rt arw fawmedt & & 37 WPy & T AT, S FERa g@er § waaEE feg (7) F W |

3T TR gl
&
« L 10 +
® =
O
X2 |& 4
® L
Py
X3lo ¢
- 2
>
“4ilo ¢
L J m

Question ID : 65497835475

Status : Answered

Chosen Option : 1

given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

1. All gardens are resorts.
2. No resort is a court.

3. All parks are courts.

Conclusions:
I. No court is agarden.
Il. No garden is a park.

X 1. None of the conclusions follow
< 2. Only conclusion | follows
< 3. Only conclusion Il follows

«" 4. Both the conclusions follow

_________________________———————
Q.13 Read the given statements and conclusions carefully. Assuming that the information

Question ID : 65497835456

Status : Answered

Chosen Option : 4




following figures. How would this paper look when unfolded?

Ans

Q5 WM TP HIFY JPITHES A T TUT o TAH
1 TdR Gt g

27,41, 57, 76, 99, ?
Ans X 1.152
X 2.114
X 3.136
o 4.127

Y IHUET § -:::::sTﬁE»’l
6:4::11:7::16:8
Ans  # 1.6
X 25
<38
X 4.7

Q.14 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the

Question ID : 65497835459
Status : Answered
Chosen Option : 1

g (?)Hﬁﬂ

Question ID : 65497835453
Status : Answered
Chosen Option : 4

ol T IF_FITAF T WHIAR T VTG A @Y AFRAY I9g

Question ID : 65497835465

Not Attempted and
Marked For Review

Chosen Option : --

Status :




QU7 TH 7 AHTHNH, nausen Bl 236063 HR svrup B 07265 B UHPCd Ol
el HIUTH, 'SUPPRESS' 1 O UHG g YT Iul

Ans X 1.96552599
X 2.86552489
X 3.96441499
o 4.96551499

Question ID : 65497835452
Status : Answered
Chosen Option : 4

Q.18 Six friends, Govardan, Sarayu, Rekha, Shyamala, Hema and Ganesh, are standing in a
queue at aticket counter. There are two persons between Sarayu and Hema. Rekha is
between Hema and Shyamala. Only one person is standing ahead of Govardan.
Ganesh who is third from the back end of the row, is between Govardan and Hema.
Which two persons are standing between Sarayu and Hema?

Ans X 1. Shyamala and Rekha
X 2. Govardan and Rekha
X 3. Ganesh and Shyamala
" 4. Govardan and Ganesh

Question ID : 65497835464
Status : Answered
Chosen Option : 3

019 UM IF AYIWY JH TS TG 7 qQd WA TEeF 9 9F oM
R g 5

23, 40, 74, 125, 193, ?
Ans X 1.270
o 2.278
X 3.290
X 4.225

Question ID : 65497835474
Status : Answered
Chosen Option : 2

Q20U 7 dp CHNIH, o R B10pRU 3R TACKLE B1 ATKCEL' & UH A dr gl
I HTST H FormaTIONS' B TG o QI

Ans X 1. OFNRTAONSI
X 2. OFMTRAOISO
X 3. MFPRTAOKSN
¥ 4. OFMRTAOISN

Question ID : 65497835455
Status : Answered
Chosen Option : 4




021 Y TF FIIFH WY TEA R Y ot Smm ARG AT YA g 98 IR U
TWIFF o 0 AT gl

(12, 14, 56)

Ans " 1.(16, 18, 96)
X 2.(24, 16, 214)
X 3.(10, 16, 82)
X 4.(14, 20, 145)

Question ID : 65497835457
Status : Not Answered
Chosen Option : --

02 QU a6 U HUTH Y YURHITAS U 97 o ¥AH TG I o) F YA
R IHAE|

BEI, EHL, HKO, KNR, ?
Ans X 1.NPS

X 2.NRU

«" 3.NQU

X 4.NQT

Question ID : 65497835460
Status : Answered
Chosen Option : 3

0z W,WW&%,@[ ATaHY §1d AHE U g1 qAGmd § 7T

1 Y P la 3, Wil S 1 4T 51 AT BT G ¥ <1 HaY 8o
Ans xl-w

X 2. Udl

AR

4. Mt

Question ID : 65497835471
Status : Answered
Chosen Option : 3

Q.24 Select the correct mirror image of the given combination when the mirror is placed at the right side.

detA9P

T+ qeAtisb
Q@A
d@Visb
‘q@A19P

Question ID : 65497835454
Status : Answered
Chosen Option : 1




Q.25 'Ammeter’ is related to ‘Current’ in the same way as ‘Anemometer’ is related to

Ans X 1. Temperature
X 2. Potential Difference
X 3.Water
" 4.Wind Speed and Direction

Question ID : 65497835461
Status : Answered
Chosen Option : 2

Section : Part B General Knolwedge and General Awareness

Ql YRAA T @ W) ¥ Y 799 d9 ERRGERIRIEIR]
Ans X 1.1976

X 2.1988
" 3.1980
X 4.1974

Question ID : 65497835496
Status : Answered
Chosen Option : 1

02 YH AW JadmITT WY & W
Ans X 12018

X 2.2014

W 3.2015

X 4.2017

Question ID : 65497835483
Status : Answered
Chosen Option : 1

D

Q3 7 TEIAY FUAT o WA TasddN TR oRo020F W o
o TH ?ﬁ'ﬁﬁ{ DI o} 2

Question ID : 65497835479
Status : Answered
Chosen Option : 4

04 7 TTIAADH T HSA A TN (medulla oblongaty oRT T4 T 7§ Bl
B2Ans X 1@ DAl

X239 SEzc

¢3.HIT*ﬁEITerT

X4.@T¥Fﬂ

Question ID : 65497835498
Status : Answered
Chosen Option : 1




Q5 7 TEARY FWFAH MUY & T GRAT of M@ o
3 Y2 Ans xl.?iqlsgﬂaﬁw

X229 ¢ sﬂa 3 g

x 2. TPcd I, 7 IR

¢ TR g9, QR

Question ID : 65497835478
Status : Answered
Chosen Option : 1

06 7 FEIHY YA aon T A T o7 led §HCH & AP o
Ans X1_ﬁwm

o 2.JTC S & TsH

X 3 HRd

X4.3{\TJ Sl

Question ID : 65497835497
Status : Answered
Chosen Option : 2

o7 W AIBT B RIS AP TP T8 W ol I o A 3 IS A B
A HTH G TR 10T RATY 1 d o IHT N FHAAT D 0
CRURIBIRIE

Ans X LTI T IAT
2.9 < U7
X 3 R qIAT
X+ O WA G A T

Question ID : 65497835482
Status : Answered
Chosen Option : 3

0817 TSR, 2020 BT, 3T <1 T 9 HERG ) 7 TR AV & , & G199 A1 S U Bl (G
TEH AT T4 Qalgld 6 <H A q%wwarqm
Ans < 1 HIT 1T daia] BU
o 2 TSN & THY
X3 {Udc oy

X 4 B TSy

Question ID : 65497835480

. Not Attempted and
Status : Marked For Review

Chosen Option : --

Qo G oo AME T IMBATF I 31 375 YR TE0C & Y WA P (zarn

Qalam) T T B & SW YT T of Td B
Ans xlﬁlﬂﬂfrlﬁ
X 2 TR
X 3. 9% 98
o 4. DR

Question ID : 65497835499
Status : Answered
Chosen Option : 2




010 T AYPHTIR 200 T A D HCHBIS oF Ul
Ans 21 T T ol

XZ.ﬁBHaEH

xg.ﬁaﬁwn@ﬁ

x40 FEH

Question ID : 65497835493
Status : Answered
Chosen Option : 3

Q11 ¥ o Wo020 ¥ FFIHEAT T R o TH U YR Tad oY @ & U5 @l
9 T4l

Ans xﬁRﬁ?ﬂ

o 2§l el

X 2 TR WD

X4 Y

Question ID : 65497835487
Status : Answered
Chosen Option : 4

Q12 T HRA & J H1 FIC] AR 1 o Te1 U, ¥ U §H 1 3 3RA AP oF 7 G U1
TR YRT TR YN IIX T TEIAIPAAY o R TH T U
ANs L TN P AWEHHY F 79
X o W HHYT FER T HT qY|
X 3.3 TS I T |
XL WRTIRAF HF qWeHF g S

Question ID : 65497835486
Status : Answered
Chosen Option : 1

QB HGHE W d A4S HITH Tl
Ans ¢1ih?[

X 2P0

X 3.9

x4

Question ID : 65497835494
Status : Answered
Chosen Option : 1

ou ¥ URUF B THT Pl 020 H RWGJ 7 @ AN @ d deQIR
§pl < R oR =T MYl
Ans X1.:ﬂ'd$m
o 2. %06¢ THIEH
X 2 TR & TBR
x40 AT

Question ID : 65497835491
Status : Answered
Chosen Option : 3




Ans

Ans

Ans

Q18 27 TGER 2020 Th, YR BT TG T of HER TIHT

05 T THIA TP {619 & TV T8

X 1. 3BT 7 T A Sl 5|

o 2 O ] M ¥ U1 39 %1 o 9ol 8|

X 3T FHEHRINT T T 5l

X . ONF FERPIGCEY T HAITORENE

& YEPIPN U W W3
X1 Hd
X 2. Yd
W3 d o
X 490

Q17 gH ¢ 6@?13?@ S8R '{ﬁ?ﬁﬁ T@R o ¢
TR g2 Ans < 1 QU 13 00 &1 a

X 23E OIF &
X3QU AU TR
LR E

X 1.$774
o 2.$574
X 3.$474
X 4.$374

Q1o 7 AWIHTPH WU IY 19567 3 o
Ans X1 AU THE T HRG SIS 3R AR STl T4

L2IHR T TSASTEAT &R qu il
Xs.ﬁ‘]ﬂfﬂ@ ﬁwa’ﬁ;l
X T FIBIRDI T F oa 0 71 T

CISCERIL

Question ID : 65497835489
Status : Answered
Chosen Option : 2

Q.16 7 TR 2021 B0, T (vasA) TV F & T RYIRATTT & F U5

Question ID : 65497835500
Status : Answered
Chosen Option : 3

Question ID : 65497835488
Status : Answered
Chosen Option : 2

Question ID : 65497835481
Status : Answered
Chosen Option : 2

Question ID : 65497835495
Status : Answered
Chosen Option : 4




o 7 AAHH s A ITAHRA DGR QAT THaHE
2Ans X1, T B G oTUBR

X2.¢ddn

X3GHNIT S

o L. TREG S & (3§ 3 ST B)

Question ID : 65497835485
Status : Answered
Chosen Option : 4

0217 T Td WA P I T W@d TP T 514
Ans Xl_wm

X 2 TR & P TBN

X 3. Dhddh

o 4. Sl

Question ID : 65497835490
Status : Answered
Chosen Option : 1

Q.22 (WTHWT Ty [ i FEide #9 TR
URIdY 2 Ans X 1. ARl

X2 U

W30 i

X 4.901q

Question ID : 65497835477
Status : Not Answered
Chosen Option : --

02 o TG SFERYRAS 7 TEITY P GFH IFWHH GG H U
Ans X 1.9 1

o 2 9eR

X3H ¥

X433IEW

Question ID : 65497835492
Status : Answered
Chosen Option : 2

o2 z%%mﬂqm 4 (op) 7 T Il TGS HRAG AEH F R T T@IHT

Ans Xl.wmm
fz.ﬂﬂﬁ'ﬁw
X 3. I Ulad
Xodq T

Question ID : 65497835484
Status : Answered
Chosen Option : 2




025 7 TEIAIPHA N T 0, HRI IR o1q VT el &2
Ans Jl.g

X 2 Jgdl

X 3

x 4T

Question ID : 65497835476
Status : Answered
Chosen Option : 1

Section : Part C Elementary Mathematics

Q.1 Varun bought a curtain cloth from a wholesaler at 20% discount on the marked price. He then marked the cloth at 20%
higher than the original marked price and allowed 10% discount. What is his percentage profit?

Ans X125
X2 20
X3 30
4 35

Question ID : 65497835501
Status : Answered
Chosen Option : 4

Q2 85 + 170f 4- [65 + 130f 2~ 14 X (19- 25) + 12— 10] of = 1 H w1 HfarC

Ans
X 1 1_1

12

x2 3

Question ID : 65497835521
Status : Answered
Chosen Option : 4

Q.3 One-fifth of three-eighths of two-thirds of a number is 20. What is 60% of that number?
Ans X1 120
X2 156
X3 365
« 4. 240

Question ID : 65497835514
Status : Answered
Chosen Option : 4




Q4 frth T & asfral 3R w5 $r T & I 2 : 7 {1 A wsA AR Fga f dEw F wEew
15% 3R 20% # 3f& g ek &, o a1 srgara frcar gem?

Ans 123 . 84
219 : 14
224 1 71

4. 21z 22

Question ID : 65497835519
Status : Answered
Chosen Option : 1

Q.5  Atrader allows a discount of 10% on the marked price and still gains 8% on the whole. At what percentage above the
cost price does he mark his goods?

Ans X1 35%
X2 25%
X3 18%
@4 20%

Question ID : 65497835504
Status : Answered
Chosen Option : 4

Q.6  Rohit can complete a piece of work in 32 days, while Raj can complete it by himself in 48 days. They started the work
together, but Rohit left 8 days before the work got over. For how many days did they work together?

Ans X118
X2 12
X3 15
4 16

Question ID : 65497835515
Status : Answered
Chosen Option : 2

Q.7  The average monthly income of A and B is T4,500, the average monthly income of B and C is 5,600, and the average
monthly income of A and C is T4.800. Find the monthly income of B.

Ans 136,900
2. 34,750
3. 33,700
4. 35,300

Question ID : 65497835512
Status : Answered
Chosen Option : 4




Q.8 A person saves 12% of his income. One year later, his income shoots up by 25% but he still saves the same amount of
money. What is the percentage hike in his expenditure?

Ans X1 27.4%
2. 28.4%
X3 254%
X4 33%

Question ID : 65497835503
Status : Answered
Chosen Option : 2

Q.9 Two friends, A and B, invested in a business in the ratio of 3 : 4. A withdrew his share two months early. At the end of
one year, the total profit was 2,600. A's share of profit will be:

Ans1.%750
2. 1,000
3. T800
4. T1,110

Question ID : 65497835508
Status : Not Answered
Chosen Option : --

Q.10 Find the single discount equivalent to two successive discounts of 25% and 10%.
Ans X1 28%

X2 40.25%

o 3. 32.5%

X 4. 45.5%

Question ID : 65497835513
Status : Answered
Chosen Option : 3

Q.11 The ratio of the radii of two right circular cones, C and D, is 2 : 3 and their heights are in the ratio 3 : 2. The ratio of the
volume of cone D to that of cone C is:

Ans X1 4:3
x2 2:3
X3 3:4
w4 3:2

Question ID : 65497835510
Status : Answered
Chosen Option : 4




Q12 2 pet 3 Bo diod
B 2.4 4 2 4 37 AT AT HAT
55_3§Of§
Ans
X1.§
4
x2 1
2
val
8
x4 2
3

Question ID : 65497835524
Status : Answered
Chosen Option : 3

Q13 v wfar # 5 wfFa Ml & The W 10% TF = &1 Felr F 750 7 10% # X g8 =7 7 I
T A9 & F T e Fr gug F gfoa wE F=27 g =fge?

Ans 1 119%
29 1%
11

3. 10%
4. 9%

Question ID : 65497835511
Status : Not Answered
Chosen Option : --

Q.14 A sum of money at compound interest amounts to seven times of itself in 3 years. In how many years will it be 2401
times of itself?

Ans X1 9
v2 12
X3 18
X4 15

Question ID : 65497835506
Status : Answered
Chosen Option : 2

Q.15 How many maximum litres of milk can a hemispherical bowl of diameter 9 cm hold approximately?
Ans o 1. 0.191 litres

A 2.0.90 litres

A3.0.0191 litres

X 4. 1.90 litres

Question ID : 65497835507
Status : Answered
Chosen Option : 3




Q.16 wffra & 2% e =Tl &1 & | Thgfg =0 W 3 a9 & AT WG SFAT et & 39,000 FHr AR
w1 e fFar @t SERfr fr afmeaar | 3w fFaeT TR (GudEes ¥ o T aF w6 e

Ans1.%9,650
2. ¥10,255.25
3. ¥9,525.50
4.%9,550.87

Question ID : 65497835520
Status : Answered
Chosen Option : 4

Q.17 By selling 90 pens for T1,575, a shopkeeper loses 30%. How many pens should he sell for T708 so as to earn a profit of
18%?

Ans X1 30
X2 20
3 24
X4 25

Question ID : 65497835522
Status : Not Answered
Chosen Option : --

Q.18 Find the least number which is a perfect square and is divisible by each of the following numbers.

15,24 and 36
Ans & 1. 3600
X 2. 1600
X< 3. 900
X< 4. 6400

Question ID : 65497835517
Status : Answered
Chosen Option : 1

Q.19 Pipes Aand B can fill a tank in 18 hours and 27 hours, respectively. If both the pipes are opened on alternate hours, one
at a time, and pipe A is opened for the first hour, then in how many hours will the tank be filled completely?

Ans X1 2]
2 201
2

X3 20

Question ID : 65497835523
Status : Answered
Chosen Option : 4




Q.20 For a certain sum, in 2 years, the simple interest is T80 and the compound interest for the same period and at the same
rate of interest is T85. The rate of interest per annum is:

Ans X1 7.5%
X2 8.5%
3 12.5%
X 4. 5.5%

Question ID : 65497835509
Status : Answered
Chosen Option : 3

Q.21 ¢ zafFaat @ 3ua aoi 1.5 kg 9 ST § 519 398 § 45 kg Tl aTer Afad & FAF T TH 7497
ITFT 3T §| AT TFT F I el 21 =fge?

Ans o1 54 kg
2. 55 kg
3. 50 kg
4. 48 kg

Question ID : 65497835518
Status : Answered
Chosen Option : 1

% pfr 0.35: x::5: 6 § A x FT AT fFaeT &2
Ans 1048

2. 0.42

3. 0.34

4. 0.44

Question ID : 65497835505
Status : Answered
Chosen Option : 2

Q.23 v Ae@R & 60 km/h @ =Ter F Tl I 5, 3K swHr I ve@w 3 g€ W 20 km/h FETE S
21 470 km #r gl T7 = F ¥ oA @ @

Ans 1

X1 6—
4

2
2 2, e
53

> ER

|
¥ LR Sl
2

Question ID : 65497835516
Status : Answered
Chosen Option : 4




Q24 7f& 9987693 x 6432 x 7695 & 10 ¥ &11=T AT ST ¥, aF Asher g w==m?
Ans 16
2. 0
31
4.9

Question ID : 65497835502
Status : Answered
Chosen Option : 2

Q.25 ws s v fARTd gl & ar-foer$ st &1 70 kmvh & =1er § 3R AW g 50 kmvh F wmer @

mmélqﬁmﬁﬁeg S ® THT I g1 56 kmh Fr wer &, T8 o g Frew wEw &
T FT GTCE?

Ans x17dt
» 81 Te
3
3 72 we
2
4. 8 ge

Question ID : 65497835525
Status : Not Answered
Chosen Option : --

Section : Part D English

Q.1 Select the most appropriate meaning of the given idiom.
To get out of hand
Ans & 1. To get out of control
X 2. To get an award
X 3. To get angry
& 4. To getin a trouble

Question ID : 65497835530
Status : Answered
Chosen Option : 1

Q.2 Thefollowing sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The visitors / were being showed / a collection of / old manuscripts.
Ans X 1. acollection of
X 2. old manuscripts
X 3. The visitors
" 4. were being showed

Question ID : 65497835539
Status : Answered
Chosen Option : 4




Q.3 Thefollowing sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Mohit is expecting / a huge profit / at his / recent investment.
Ans & 1. athis

X 2. ahuge profit

X 3. Mohit is expecting

X 4. recent investment

Question ID : 65497835543
Status : Answered
Chosen Option : 1

Q.4 Select the most appropriate option to fill in the blank.
When his mother was away, he took the of his little brother.
Ans X 1. management
X 2. power
¥ 3. charge
X 4. duty

Question ID : 65497835526
Status : Answered
Chosen Option : 1

Q.5 Select the most appropriate option to fill in the blank.
Mere classroom teaching-learning is boring and for students.
Ans X 1. varied
" 2. monotonous
X 3. exciting
X 4. interesting

Question ID : 65497835533
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate synonym of the given word.
Maintain
Ans o 1. Care
X 2.Ignore
X 3.Release
X 4. Neglect

Question ID : 65497835528
Status : Answered
Chosen Option : 1




Q.7 Select the most appropriate ANTONYM of the given word.
Beneficial

Ans X 1. Careful

X 2. Fearful

X 3. Hopeful

o 4. Harmful

Question ID : 65497835534
Status : Answered
Chosen Option : 4

Q.8 Select the option that can be used as a one-word substitute for the given group of
words.

The sound of owls
Ans o 1. Hoot
X 2.Caw
X 3. Cluck
X 4. Moo

Question ID : 65497835545
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate option to fill in the blank.
He an important question in the meeting.
Ans X 1.rose
X 2.risen

X 3.rise
" 4. raised

Question ID : 65497835536
Status : Answered
Chosen Option : 1

Q.10 Select the INCORRECTLY spelt word.
Ans X 1. Brilliant

X 2. lllusion

X 3. Scrutiny

«” 4. Abandan

Question ID : 65497835542
Status : Answered
Chosen Option : 4




Q.11 Select the option that can be used as a one-word substitute for the given group of
words.

Able to be harmed easily
Ans  «# 1. Vulnerable

X 2. Available

X 3. Accessible

X 4. Flexible

Question ID : 65497835541
Status : Answered
Chosen Option : 1

Q.12 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

May |/ please borrow / yours book?
Ans X 1. No error

«” 2. yours book

X 3. May |

X 4. please borrow

Question ID : 65497835527
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The task our English teacher gave us was both challenging and entertaining.
Ans & 1. No substitution required
X 2. was together challenged
X 3. was both challenge
X 4.is additionally challenging

Question ID : 65497835537
Status : Answered
Chosen Option : 1

Q.14 Select the INCORRECTLY spelt word.
Ans & 1. Pretanse

X 2.Reliance
X 3. Alliance
X 4. Defiance

Question ID : 65497835535
Status : Answered
Chosen Option : 1




Q.15 Select the most appropriate SYNONYM of the given word.

Compose
Ans X 1.Clutch

X 2. Confuse
«# 3. Collect
X 4. Cuddle

Question ID : 65497835544
Status : Answered
Chosen Option : 2

Q.16 Select the most appropriate meaning of the given idiom.

To take stock of
Ans X 1. To measure
" 2. To think carefully
< 3. To count
X 4. To discuss

Question ID : 65497835529
Status : Answered
Chosen Option : 2

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

A large number of things placed one on top of another
Ans X 1.Batch
X 2. Group
«" 3. Pile
X 4. Load

Question ID : 65497835531
Status : Answered
Chosen Option : 4

Q.18 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

The children were been drove to the picnic spotin the school bus.
Ans X 1.were been driving
«” 2. were being driven
< 3. were been driven

< 4. No improvement required

Question ID : 65497835538
Status : Answered
Chosen Option : 2




Ans

Ans

Ans

Q.19 Select the option that will improve the underlined part of the given sentence. In case

no improvement is needed, select 'No improvement required'.

Aphrodite vowed that Paris would had the most beautiful woman as his wife.

< 1. will be having
%" 2. would have
X 3. No improvement required

X 4. would be having

Q.20 Select the most appropriate ANTONYM of the given word.

Stout
X 1. Obese

X 2.Heavy
" 3. Thin

X 4.Bulky

Comprehension:

Question ID : 65497835532
Status : Answered
Chosen Option : 2

Question ID : 65497835540
Status : Marked For Review
Chosen Option : 2

In the following passage, some words have been deleted. Read the passage carefully and

select the most appropriate option to fill in each blank.

Football legend Diego Maradona was buried in a private ceremony after a day of (1)

scenes in the Argentine capital Buenos Aires. Only (2)

two dozen relatives and close

friends (3) the final ceremony on Thursday. But (4) huge crowds turned out to
pay (5) respects, with many weeping, blowing kisses and praying as they filed past
his coffin.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank no. 1.

X 1. impressive
X 2. exciting
«" 3. emotional

X 4. expressive

Question ID : 65497835547
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Football legend Diego Maradona was buried in a private ceremony after a day of (1)

scenes in the Argentine capital Buenos Aires. Only (2) two dozen relatives and close
friends (3) the final ceremony on Thursday. But (4) huge crowds turned out to
pay (5) respects, with many weeping, blowing kisses and praying as they filed past
his coffin.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans & 1. around

X 2. more or less
X 3.roughly
X 4. just

Question ID : 65497835548
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Football legend Diego Maradona was buried in a private ceremony after a day of (1)

scenes in the Argentine capital Buenos Aires. Only (2) two dozen relatives and close
friends (3) the final ceremony on Thursday. But (4) huge crowds turned out to
pay (5) respects, with many weeping, blowing kisses and praying as they filed past
his coffin.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans X 1. attending

«* 2. attended
X 3. have attended
X 4. attend

Question ID : 65497835549
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Football legend Diego Maradona was buried in a private ceremony after a day of (1)

scenes in the Argentine capital Buenos Aires. Only (2) two dozen relatives and close
friends (3) the final ceremony on Thursday. But (4) huge crowds turned out to
pay (5) respects, with many weeping, blowing kisses and praying as they filed past
his coffin.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans X 1.early

X 2. earliest
" 3. earlier
X 4. as early

Question ID : 65497835550
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Football legend Diego Maradona was buried in a private ceremony after a day of (1)

scenes in the Argentine capital Buenos Aires. Only (2) two dozen relatives and close
friends (3) the final ceremony on Thursday. But (4) huge crowds turned out to
pay (5) respects, with many weeping, blowing kisses and praying as they filed past
his coffin.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans o 1. their

X< 2. his
X 3.them
X 4.its

Question ID : 65497835551
Status : Answered
Chosen Option : 1

Section : Part D Hindi

QITIMY & TAAN Y HI TR

EIGal

Ans (1,Wﬁ
x 2 Sl
X 3.94dl
XA.?R'fﬁ

Question ID : 65497835558
Status : Not Answered
Chosen Option : --

2 TR.-FWHIY FIY T gy
Ans X1.\'rﬁ33@f1-m€l

o 2. TIH] PIg 3R TE |

X 3 TG R B

X 4. S UgL. T ARl

Question ID : 65497835565
Status : Not Answered
Chosen Option : --

03 QUT A FAWSH T IWIFHG MIRNITY @ HIHR| IG/
T WD q BAT Eq @ PU AN I4 BT § P TH &
TR FRA AW
Ans ¢1‘Tﬂ%{$Q’€|'|T;[
X2 PUTEAIS Hd ST 8
X3THE 7
X+ TH & 0Eq

Question ID : 65497835552
Status : Not Answered
Chosen Option : --




Q4 yfafer Bt Aar & awr awrier B A v erg Brm-
Ans X1 afaen

o 2. anfady

X 3. 3R

X 4 ufafa

Question ID : 65497835569
Status : Not Answered
Chosen Option : --

Q5 3 ) arerr ¥ Wifiea sier®Y wiavenfia w0 & foie e 3wy fawer &1 @ &)

T Ve T deE efew
Ans X 1@
2.
X 3. 37
X 4. e

Question ID : 65497835567
Status : Not Answered
Chosen Option : --

Q6w e BT YEra¥ B Wt 3ref W §?
Ans X1 gwf @

X 2. QeRI9oT HET

X 3.gon FAT

4 f&8m

Question ID : 65497835571
Status : Not Answered
Chosen Option : -

Q7 AW IS fFam AR E?

31 3T A T WBR B Terdt wa BT
Ans X 1.\ TTerd
X 2. wa s
X 3.59 WBR
Ve CEITE

Question ID : 65497835566
Status : Not Answered
Chosen Option : --

Q8 fmfafdm ¥ ¥ gg adt aren erg BT A E?
Ans X 1 dadle

X 2. wiviis

3. e

X 4. waiis

Question ID : 65497835564
Status : Not Answered
Chosen Option : --




Q9 fimfefaa ¥ ¥ gz adHt aren ez BT A 82
Ans X 1| aaspR

2. TREBR

X 3. TmeR

X 4. rpR

Question ID : 65497835563
Status : Not Answered
Chosen Option : --

Q10 Ry e Y Wi & fory wad Iuge 2Rz 1 aaF W

TgEUFAga s IwAtt ____ 31
Ans X 1.9
X 2. om=
o 3.3
X 4. 9d=x

Question ID : 65497835559
Status : Not Answered
Chosen Option : --

Q1 fidt a8 3R weequl BRI @1 @R g a1 AT T areier ¥ fAg ve wrele erg
Ans X 1 gmE

X 2.3

& 3. BfF

X 497

Question ID : 65497835553
Status : Not Answered
Chosen Option : --

Q.12 fisffa’ 1 fawirm erg gvm-
Ans 1 wllg

X 2.3efa

X 3. wgsila

X 4.9

Question ID : 65497835568
Status : Not Answered
Chosen Option : --

Q.13 3z araw $ Gt wemr 70 Yea & 3fEa 3ref &1 o S
Ans X 1.8 39 ¥ 3fts I EEr

X 2. acgfis 3mma g

o 3. 9gAd A AT @Al

X 4. agTd BT TR BT

Question ID : 65497835554
Status : Not Answered
Chosen Option : --




Q.14

Ans

Q.15 Ry 1y aTerr 1 a5 WRT A B o B gR 31 AR P R A, A PR A N
¥ (1) wrmor wfal (2) war @ §1 (3) PEFRTHA Y (4)

Ans

Q.16

Ans

fearr T2 WA & foT W 3wy o WY 9 B

WA TR S
X 1
X 2. g
X 3.9g
¥ 4Tg

X 1.4
v 22
%33
x4

‘srar’ w1 fareirw oreg gym-
X 1. 3citfes
2.3
X 3. 3327
X 4.3

Question ID : 65497835555
Status : Not Answered
Chosen Option : --

Question ID : 65497835560
Status : Not Answered
Chosen Option : --

Question ID : 65497835570
Status : Not Answered
Chosen Option : --

Q17 Ry 7y arer ¥ Yaifea e B wferenfia w3 ¥ v v Ivgw e w1 aaT a8 IR R
wfarenfia &3 B A egwar 781 &, aY fee et agera B sraeadar 781 ¥ &1 9 B

Ans

ot gl & NS fBuet 3} faeht g B o B wdtan s anft)

o 1. T & I B Heltem S @
X 2. fas<ft wreetra &Y 3aeaesar T £l
X 3 g% & o ¥ sfte e T

X 4.3 & S B HAeT HE

Question ID : 65497835562
Status : Not Answered
Chosen Option : --




Q.18 Ry 1y 2Rz F WHTARK 2re BT T B
AT
Ans 1 3ERE
X 2. TSR
X 3.9
X 4. R

Question ID : 65497835561
Status : Not Answered

Chosen Option : --

Q19 e e ®Y WA & oY e IugaT oRg BT aa ¥
pudREMaEfmy_ #
Ans X 1. 3roTraerg
2. fReg
X 3. frfi
X 4 WEH T

Question ID : 65497835556
Status : Not Answered
Chosen Option : --

Q.20 Ry aa w17 WM A B o B R #1 AR PE IR @ 8, A BE R W ¥ N1

fadt +ft v Bt (1)/ T Wy 3ifi (2)/ e B i & (3) BE FR AR (4)
Ans 1.4
X223
X3.2
X4

Question ID : 65497835557
Status : Not Answered
Chosen Option : --

Comprehension:

AT 19T BT AT TEl, AT BTE BN &1 3 ¥ ST A= S ar ¥ g (1) TE B,

3ITHT

3rforad des agaeT it §AR forT gRaR BT 81 2iest wgsa &Y (2) TEdt 8, 2T HieAE SR ¥
Tera (3) e Uga Bl 8 21 AT B Hel faig I Swa 30T (4) @IoT B PN
HeT fagar B wad g€t uga™ B fear FY sivar § | ST Y 3rdar 2AF & (5) TR Feld

& U B HEl g€ ugaH §1

31 T & IR ITIaw Taier F IR W &S
SubQuestion No : 21
Q.21 rerier 3 e zer (1) 3 fory waiffires swgea ez g
Ans X 1 f3ar
X 2. gwt
o 3. 2AFT
X 4. e

Question ID : 65497835573
Status : Not Answered
Chosen Option : --




Comprehension:

AT ARTLT BT AT TEl, MMM BTE B &1 3T ¥ S dAwi s ar ¥ g (1) el Breft, 3Thr
sraforad ad qgarm i gR oY geam BT &1 2ieT W @t (2) T 8, 2T BT F iR A
TeaR (3), T gE B UE 71 AP P Hel fig & @ 30T (4) @ty B Hfrer
BT g1 B T 981 Tgae 21 fFeary oY aierar ¥ 1Y S Y 3rda 2wt 3 (5) R geld

T ud & B 9t ugaH B

T oY & IR IR et Merier & 3R W AfSrgl
SubQuestion No : 22
Q.22 rerier ¥ fiarm e (2) & forg waifie ugew org Brm-
Ans X 1 SR
X 2.
3.5

X 4.gm

Question ID : 65497835574
Status : Not Answered
Chosen Option : --

Comprehension:

AT ARTG BT &IOT ALY, ATRATHT & A &1 3T o o <fwif b an ¥ g (1) el Beft, 3B
yrafead as agaA it gAR oY gear BT #1 2T W= B (2) Tt 2, 2T BT F R I
TR (3)____ T UgaA B TE B AFT B TE g F S@ws 30T (4) @er B Bifrer
BT fgar B Ta a1 uga™ €1 fFeara HY siuar ¥ |y I B 3rdar 2T &5 (5) R Fdd
&A1 uH &Y FEl 981 UEaH 8l

et oA & IR IuRYarR TEier & MR W @S
SubQuestion No : 23
Q.23 wrarier 3 fiaer verF (3) % fory waiffiies 3w erg g-
Ans X 1 fiofg
X 2.3
& 3T

X 4. w8g

Question ID : 65497835575
Status : Not Answered
Chosen Option : --

Comprehension:

ATHT AT BT AEHUT ALY, 1T BT & A &1 3/ # o i s an ¥ g (1) & e, 3B
sraferad ae age W gAR oY gRar BT #1 2T WIS &t (2) TEd 8, ot B SR J
TAM (3)___ o Uga B UE B T B T g A Away 3T (4) @IoT B IS
BT fagar B T 981 Uga™ 21 [Geary &Y 3ivar ¥ QY 5 Y 398 ot 3 (5) W A
&y Y Pl 981 TgaH &l

31 wreAY & 3R IRVerT TTEier b MR W A9l

SubQuestion No : 24
Q.24 erier ¥ fiere worm (4) % forg waffie sugem oz grm-
Ans X 1. 3@eH
R G
X 3.
X 4_gfomm

Question ID : 65497835576
Status : Not Answered
Chosen Option : --



Comprehension:

THR BT U AMBE 0 HEAH widd & 9K 0 §H 1 T8 ol 3P

gl
WA S THER T o oREE TP, o) g IHHeRE FRI
AR (3) UG AT WMol IF BT § g YT TR 3901 (4)__ G & 31 [
TIPS MU aEI gl 9O AT WuR P ou JTH P 5 Waad

T U & ¢ 9 Tedr g

T FIIWR T ATF AMMRWE T

SubQuestion No : 25
5T IYFH ¥ Hpd qUd 4H3wg 9
aTﬂ.Ans > 1,1??{

X 2.9d
X 3 TR

o 4 d

Question ID : 65497835577
Status : Not Answered
Chosen Option : --




